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UNIQUE CONCEPTS

Square, Square Root, Cube & Cube Root

1 Jp L

9 Special Addition (WTH Si1g)

(Consecutive No, TG0 T) 0094
XY + yx &1 &1 ) &1 Addition gelF

R e—

£ 00 ¢ EEESETRATCRESREI ’

Page

squdre/(@tf) of any number (Universal Method)
DecimalNumber &1 Square (GHTT HBAT T d )

Base 100 & 414 Square (aTf)

Base 50 & AT Sduare (@)

99, 999, 9999, ...

Cube (&) of any nuber (Universal Method)

Decimal Number &7 Cube. (GeMHcTd HAT &1 ©)

Accurate Square Root (H&tes-ariHe)

Approximate Square Root (@#HIT efHe)

Decimal Number @T Square Root (&LTHcTa €T &1 d11H)
Accurate Cube Root (¥&leh g+Hc)

Approximate Cube Root (CTTTHIT Hc7)

Decimal Number T Cube Root (ST GBAT hT H-TH)
Square Calculation @&T Smart d<ichT

Special Properties of Square

Special Properties of Cube

Some Interesting Patterns

UE 10, 100, 1000, 10000 HET &T AT Superfast AHH% T
e foRv 3oeT Addition

Counting 1 Addition Rule
Reverse Counting Rule
9 Special Rule

> BHTTA HBIT 6T Addition ey
10 TR Sy S Method @




e Subtraction H3T (GeTe)

Basic Subtraction T {THETUT Method

100, 1000, 10000, ..... ¥ ¥ ¥&T37t Seconds &
Subtraction of 99, 999, 9999,

<l 3{eh] &bl [T T Interchange

o Multiplication’s Magic (0T % #AfSreR)

Arrow Method

Cross Method (2 x 2)

0.5, 0.25, £75 31X 0.125 &Y SfeRew Multiplication
Multiplicatignof 5° (5, 25, 125, .......)

50 T Special Multiplication

9,99, 999, ..... ¥ {Multiplication)

101 T Multiplication Magic

1001 T MultiplicationiMédgic

Special Types of Multiplicdtion

Multiplication @T Successive/Method (43 &TH &1 TTT)
Exam Calculation & 4 HoTH

6 Division T Postmortem (HIT &1 JICHICH)

Division by 5(5, 25, 125,

50 <hT Special Division

99 T Special Division (2 digits, 3 digits, 4 digits;
Add-Sub-Divison Method (Fast d{leT)
Calculation & 5 Golden Methods

Quotient and Remainder (Magical Concept)
(VTS 31T A9wHe)

e Divide by 9, 99, 999, ......(NEHE IR HITEHH fehTci)
e Divide by 11 Without Actual Division

® Rules for (2, 5", 3, 6,7, 11, 13)
* Divisibility Check for Composite Number

wAANNE NIV



Divisibility Rule ¥a @13 @1 Oscillator Method
special Divisibility Rule for 101

gpecial Divisibility Rule for 1001

99, 999, 9999, ... @1 Divisibility Rule

111, 1111, ... T Divisibility Rule

P
Base l‘llultiplir::;ttion-‘lOp (STTYT T[UTH-10)

0P X s T @) Ut (Multiplication)
10Pﬁ@ﬁtﬁMaﬁ§vﬁ (Multiplication) '
T[T ST AP BT 10° AV B di gad) 10”7 A Wl B
ToTT STl Nushiber 10" L

simplification (@TE1ehRIOT)

VBODMAS T&® Impérant Concept
Fraction @! Mind ® Cal€ulation

a | R l
— ) RULIE

b

a C
- Rule
B g

Numbers T Algebra & Connection
Correlation Technique
' Special Series
\ Step Cutting Approach (Visualisation)
| Fix Pattern @1 Smart Approach

Fraction (f9)

Difference Rule

Cross Multiply Rule (shT¥ T[ores f4am)

Rough Cross Multiplication Rule (¥ @i 1[ures [4u)
LCM Rule (eTged gHTaas] )

% Conversion Rule (¥fererer wuteror forem)

Approximate Rule (e ffra)
Numerator 1 Rule

Special Properties

M ————— RO



Terminating Decimal (217 &)
Pure Recurring (3[g 37rerf)

Mixed Recurring (FAfSe amrerdT)
fepe Place & &€ Decimal (&9TeTd) 3TTUTIT (Special Method)
Bar Calculation @1 STeawd A8

e Linear Equétion in Two Variables (& @i # e wwiaon
¢ 2 Equations-and 2 Variables &1 Hidden Method
e Cramer's Rule (3 Eguations & 3 Variables)

Quadratic & Cubic Equation

e Basic Properties
e ITE W 1Y Special Properties

e Condition for Nature of Roots (I & ¥9)

e Quadratic Equation (e gteptoT) fem # Solve &1
e Cubic Equation (& HHIHON) @I BasicPreperties

e Cubic Equation (8 ®iieuN) & Roots gl o

@ surds and Indices (EFTUﬁ Ud ©Tdih)

Important Properties
gurds ¥ Cube Root &1 3@T Pattern

surds ® Approximation T &HTC |
Algebra 9§ Co-relate a0 TuT Answer & et

smallest/Greatest &1 el
Pairing @1 WATATH e _
Rationalising Factor (aRAZERoT UTEE)

@ Line Method (yar fafer)

e Line Method Integers G|
e Line Method Decimal #




@ 'y’ Substitution Method (qﬁ@-lﬂq fafen

@ Series (JTOT)

»//Connon Series

e Yrepding Series

e RobydJ Series

e+ Ali€pnate Series

e Some special Properties of Series

@ Factors (TUIHGEE)

e Special Properties of EActors
e Factors [9&ea &1 Fas€Méthod

@ Smallest & Largest (Ha& BYT 37X Had a31) m

e abed, abd®® %€ abede T SpeciaKGéngcept

@ Perfect Square (0f @) 116‘321

Perfect Square ST/ & 6 Golden Rules
1% 112 1112 11112 ....... Seconds H
Perfect Square @&t Special TS Properties
(333), (666), (999)" &1 TT1d Technique

(x 0 y)'= (908}, (703) .......

67,667, 6667, .......... Seconds ®
Perfect Square &1 3{+3&! Properties

@ Prime Number (37MTog )

: 100% True Method to Find Prime Number
Special Properties of Prime Number

. "
How to Find Given Number is not Prime Number?




CALCULATION o T[&HA
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Page

124-150

Pigital Sum Concept
BésioProperties of Digital Sum
DSAhEAE! T Tehdl

Exarfi Gdl¢ulation & ol & @TH AT
DS & FAAE B

Unitary Méthod & DS @7 3i=@T Rule

11 RDS Method (11 RDS faifer)

e 11RDS o Basic Rules
e Universal Property of 1LRDS
e 11 RDS Method T Exam # Important Use

Page

MG Concept (THST ThEE) 157-176

Basic Properties of MG Concept
Most Used Calculations & MG Concept &1 Role

Priority Multiples
25, 125 AT 625 & multiple EEERLEIRIE))

i Mark & arel Multiple
Mensuration & 11 & multiple &T gl ud

Reverse MG Concept

Point Zero Percent Method
(@Tge STy afaerd fafen)
e )R & Options S Exam | AT

e Exam Calculation # 59 Method @7 Special Use

@ Last Digit (LD) Method (3ifa# 37 fafen)

e Type of Options
e Exam Ccalculation
e Same LD @I

7 LD Method &1 &R




Pa
@ Approximation Method (aﬁmﬁﬂ ﬁrﬁr) 205-218

7B 2o wemoa i sl 219.923

o Rulés ghFinding Last Two Digit (3fferm &Y 36 FATd A o am)
o 12D Method & Exam Calculation T HEN

@ Remainder Theorem & Calculation @ Page

Attack 24-228

Positive 31X Negafivé Remainder
How to find Remaindaf J#¥e) in Calculation
Exam ¥ Remainder TheofedT#hT Application

Reverse Application of Renfajndep Theorem

@ Pythagorean Triplets (qrIATIG fgueicH) 2;336

¢ Triplet Construction

® Pythagoras Solve & &I Shortcut dehHID
* Triplets @' Important Table

@ Data Interpretation (afl'T:ITej,T fargeraon)

Percentage to Degrees Conversion and vice-versa
DI &Y 17 Calculation Tips

Average of Difference = Difference of Average @1 Concept

DI # Ratio fepTet™ o1 St adier
Reference Value ¥ Special Calculation
Weighted Average 3R Deviation Method T Concept

Game of Technique (FehTe &1 We)

Successive &1 T Concept

Page
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SOUARE SQUAREROOT, GUBE S GUBE Rogy

) o, e, e e ) 8, 3, [l

Sc

7m, Square (@) of any Number (Universal Method):-

o /b’
Sab 2

@ 4 b @) Value Single digit @1 8!, Al Rightside (b?) ¥ 2 3(® MU 3k 2y  Ea

qrell term &l #’I"%‘Fﬁ I Blsar forad 2 | Sc
Ex.1: 322 = ? - Y,
Soln: 3 2° 904 C Ve
P &% &——129
A 1024 §'
| Lo,
Ex.2: 1472 =2, % /~
Soln: 1472 = 147 S8 o ly Q/ n
196'&9-”"' ; ‘ N
_ “f 11 (c' St
Ex.3: 10232 = ? f:;
Soln: 1023%= 10|23 ; Stq
= 100/ 0529 « Y&l 4 3% NG THRAY Zerd o &
g 60 o 0
104 6529 ki
# 4 b P value 31 Digits #) &) qt Right side (b?) & 4 ai anga 2R g
maﬁTemaﬁ:ﬁﬂﬂwwmaﬂf%luﬂ§| )
. 4\,
M Decimal Number &1 Square (S¥Maa GeaT HT 97):- 9/

~ Declmal¥ double o7 Relation W1 & means wear 4 forad Number? | Sol
k ‘Wﬁ' _W g Square ¥ SRR double number ® UYEd Decimal
L W 3 ¥ Square Root A Half &7 Relation Y&dT 2 |
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. Maths Hack Book eeee——

T e -
o Ix.y U® Digit U8l Decimal @ @l (x.y)* ¥ 2 Digit Y& Decimal

Ex.1p (7.04)? = ?

Soln: 70] 4 (assume)
4900|16
560 —
495616
&

Decimal 2 Digit O%cl © dl square # Double &I Relation means 4 Digit Uget
Decimal 81| 449.5616| Ans.

Ex.2: (11.13)2 = ?
Soln: 11.13 = 11|13 (assufnd)
a b
1210169
2 86-—- <—2ab
123 8769

123.8769| Ans
@ 4 Digit 98cl Decimal B |

[11I] Base 100 D ¥l Square (@t):- e\

&4 Number, 100 @ i 8l i ug methodﬂ"ffif 1€ ‘__:,a_-_..f:.

Step 1: Number-,moﬁf&ﬂmmmm%rﬂm.ﬂsﬁuammﬁsﬁiz =
digit ¥ ford gl |

Step 2: Number, 100 A fpaT &9 & 98 99 Number i minus @R itz afy

Number 100 & SATST & ) foran s @ Sal &) 99 Numbet Hadd P

ar|
Ex.1: 922 ="

iy 8 & 8
Soln: 92% = (92- 8 )8 [100%]
64

i3

Ex.2: 96° =7

& 4 w92
Soln: 967 = (96 — 4) )4 [ 100%{]
16

e




r [== Square, square Root, Cube & Cube Ro

Ex.3: 107 =7

Ex.3
~ Soln

07
: : >+7a (7 warer & 100 9]

Soln: 1077 = (107 * 7) ( g
.h 3¥=? ! 1 ﬂ‘

(113)°
Soln: 1@(113+ 1.3}( \+(13)2 [13-G‘IHET“§ 100 3] g

d
-3
carry

126 69 e
b o e carty e o
O 127 69 _ e N
A" _od .. B
@  113,1009 13 mﬁ;' 13 @1 Square BT 3R 2 d . ¢
2 3R 1 carry BRI @ last # (113 + 13) = -

4 " -

Ex.5: 892="7

e Skt
i _.,:T'.‘,-_p_-}-‘t

Soln: 89? = (89 -




[ Maths Hack BooOk ]
Ex.3: 62? =7

Soln: 62° = 62

(25 + 12) ( ) ﬂg.'__.Gh‘; [12 TgTaT & 50 9

——* carry

e

+ —_— CaIrry
3844 Ans

[V] 992, 9992, 99992, .....

= (99)* = (99"- 1|01 = 9801

*  (999) = (999 -1)|001 =998001

T  (9999)? = (9999 — 1}0001 = 99980001

-  (99999) = (99999 -1)|00001 = 9999800001

[VI] Cube (5) of Any Nu%f.(nnimm Method):-

a® | 3a%b | 3ab? | b° @/_

Ex.: 34*=7 V4 9
4
Soln: (34)°
i ¢
@ e Right side § formula use ®X71 | Af< 2 mg‘in?@ ¥ a1 Unit digit 3@
st QT B EIficl (Carry forward) X7 | PV
34! yhR formula @1 help A solve T | ¢ <
(34)° | ()
& 3a’b 3ab? b’ ,

33 3x32x4 3%@x42 4°

|~

o7 +12_ 108 +15 144 0 64 o(®
® © )
39304 Ans 1

[VII] Decimal Number ®T Cube (Gerdd g1 BT uH):-
Ex.: (3.1P=7? _ :
Soln: @ & Decimal @ d1% 1 Digit 3 3R Cube ¥ related & AT Right side & 3
digit 918 Decimal @G |
@ 7f¥ Decimal @ dT& 2 Digit 8 T 2 x 3 = 6 Digit 1< Decimal TG |

Mohit Goval § - — %

Rl




[== Square, Square Root, Cube & Cube Root ==

Cube ¥ 3 Ao Bl Relation 31'¥ Cube Root 7 1/3 o @1 Relation AT T@'I

b.‘i

(3.1)°

|

2% 2w B3¥x 1 gx3x]2 1
bt A ! |
57 @7 9 1
(Carry) + QJ, .L ~L ‘l'

P i

Square Root (

S‘? oot (a¥¥e)
Accurate épp'roximate (@)
[VIII] Accurate Square Root (&l A |
([ f%®! Number &1 Square Root FIHTEA - T Right side 9 |

2 number $T Pair &51d 2 | 3iX t@d 8 f& sua) ,mgitm Number
T Square H¥ UX YT &l 8 3R Pair & @ 1€ ot HﬂNbe:iﬁﬂﬂﬁl
Check #%d 2 & 48 f%d Number & Square & Equal 1 just ve1 & @

9% Number Answer & Tens place UR 3IT WITUT| 3q pﬁ;lﬁ g€ §9
Number &1 2@ & a8 393 | 8IS @ (Square) ® 0« S Wl as a9
B, BIC 4 B3I a1 Answer ®! Unit Digit B arel fora 3}%3
| @4 g3 A1 Answer B} Unit Digit 9<) arell fore QA |

Ex.1: Jo41="? ;Q

(a) 39 (b) 29 (c) 21 (d) 31 P

Boln:@

i

a8t 1.9
@ Unit digit 1 8 3R T8 1 3R 9 D Square B = el ¥ &Y 1 3k 9 orw A &
131 9% & Gt 32 = 9B nearest BT a8 31 Unit Digit |

Goyal Sir S —— m




[ Maths Hack BOOk S

@ 3q WA fb pair B & TG 9 I ¥ | N 3 BT Square & | ¥ tens digit 3 fix
& e |

@ _ q4ifds 9, 3 ® Square ® equal ® AT B T&T 1 Unit Digit & 5o} | a7
g 31 BT Square B |

Ex.2% /34596 = ?

(a) 186 (b) 184 (c) 189 (d) 182
o /34596
./3::'1;\
324 l a6
18°

@ Unit digit —» 6 51 48)¥.6 BT Square .G 37dT 2 |

186
@ 345, 18 % Square ¥ 99T & A #% Answer W 18 oI & but4 3R 6 § § B 3

I8 WA B U 89 Number Square @ Nearest & 3 3@ (18) F 4%

(19)2 @ Nearest ® I Unit Digit
(18)> & Nearest BIdl dI Unit Digit
Ex.3: /6889 =?
(a) 83 (b) 73 87D p  (@s4
\

0 N\
3 7 = (88) Ans
64 g1 '

8 9’
Unit digit —» 9 9l 3 3R 7 @ Square § 3T & | /

T 68, 8% Squate b nearest © I BIC 97 & | So, Unit Digit 3 31X 68, 8
Square ¥ ST 2 @k 9 Square ¥ BICT, IAMRIY 10th place TR 8 IRATY

Number (6) IR 3i¥ 345 B¢ Number
T Number (4) oid & |

%1 Examples @! Solve &% § Ugd g4 U® Property Udl gI-11 a1fad &
%%, (x + 50)?, (50 - x)?, (100 + x)? 31X (100 - x)* B last 2 digit same &} ¥ |

Ex.4: /519841 =7
(a) 721 (b) 629 (c) 631 (d) 731
Soln: /519841

41,21 3fR 29 @ Square @ last 2 digit ¥ 3TqT ¥ | Option (c) 3R (d) cancel & T
Ans (a) 3R (b) § W & T & | 700 FT Square 490000 & 3R 519841 Y g
& o 700 & 79T & I THRIT option (a) Ans BT |
Ex.5: /243049 - ?

(a) 497 (b) 503 (c) 493

%

(d) 487

e



[== Square, Square Root, Cube & Cube Root === =

Soln: Last 2 digit 49 8 1 7, 43, 57,93 # Square & Last % 3 7€l W option (¢ | Bx.:
@ last ¥ 93 2| a7a: 493 option (c) Answer 817 | soli
: (1194649 =?
) 1193 (b) 1093 (o) 1207 (d) 1039
So 9 ® Square @I Last2digit21§|wmﬁAnswerqﬁ@Tﬂ3ﬁ'\’ 1193 T |
1107.-+194649 ¥ 81 Number it | geferg A Answer *T1 =&} g1 | 31 Option
Ex.4

: S TR b .
I ol e g "."._‘L.?.A',n_: ’;i i
1
|

aquare 1Oy

h.s

Soln

313K 329 49 & AM'EH 31.5 74 o ¥

oI Answer

(Last % 10 9 9T &% S F4ifP umar
&1 /100 = i

lpag 10 T Multiply f&ar o) O

87 + 81 —1—268&
Bela: 57 ~ R0 =9.33... N .

= Answer




) Iscevay or

[=————==—=— Maths Hack Book —_—

Ex.3:/531 =7

Soln: /531

; 530
531+ 529
=23 ® TA9dD 931+529 1060 _
@ 529 = Peess 36, - 2004
L 23.043] Answer
Ex.4: \/1380
Soln: /138 ® V144 =12

47

= 1328:1 ¥~ 1175

Ex.5: |1.54 = ? _ 2
Soln: M'Llltlply & divide

V154

10
@ 319 UBA \/154 DI sol

= J154 & 144

e f54

2% 12

Square root # % (Half) &1 relation 8ldT 8, Waeld 3R fAY 1Y Number N
a4 @ 912 4 digit 2, a1 Square root ¥ 2 digit ® qIT TYHT T |




be Root s
[== Square, Square Root, Cube & Cu Q
B e

J0.4225 =
In:
Soln mé?
—> 36 nearest Square 2 Sl 6 BT 2 (———-I
6 5
! A o
A t‘ia—wazmgitﬁugﬁanw&aﬁmuesnonﬁw@4 igit ]
= nswer
; Answer
:'[i
Cube Roo(wﬁma) -‘
Cube Root (S-T7¢1)

(1) q‘Ta?;i::ube Root 2, A 3 BT pai t side § §ETC |
(2) 319 fught side a7 number B Wt Pl @ 3 SHHT Cube
aﬁ:}wa’rmaﬂmmgnm@ﬁa: » Root &) Unit Digit &

set _ , x ’
(3) 39 3 Digit ¥ A AT No. &I 2&F & ﬁiﬁ No, 1 Perfect Cube
SuD nem-;t‘a‘ @1 BN 98 Number forg 29 Step 1§ T4

Number & ’ﬁpi forg <7 39 UBR Cube root eabity Fgre v |
Ex.: 346656 =7

Soln: 3466
27 nearest Cube & ﬁe“— 2 .
S 3@ R 6 @y/© -
Answer = 36 y
[XII] Approximate Cube Root (ST ) ﬂ

=) 999 ygal nearest cube S& 7 |
=] 39 nearest cube, no. 9§ SITRT @ Y + B S 1Y ﬁ?-ﬁ’ilﬂ: (Vice-ve

rsa)

20

¢ 8 m

Ex,
Sol

Ex.
Sol

[x

Ex.:
Soln

N

Approx Cube Root = Nearest Cube Root + (Forerer + ) x Nearest Cube Root_
\ml 3 x Nearest Cube
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= Maths Hack Book =]
Ex.1: {160 =7

Soln: Nearest cube = 125 = §°
160 - 125 = 35*

%

5*x &
x’]ZS,

- 28

O = B40.46 "
5

= Ans
Ex.2: 31850 =&

Soln: Nearest cube =% 1728 = 12°
1850=1728 = 122*

W22 x yj
Formula= 124+ ——F—
& x 1328

432
12 + 0.28

12.28| Ans ;EO
Ex. 3: 3500
Soln: Nearest Cube - 512 =8° _- @/

512 - 500 = 12*

Formula = 5+

Rormula B8 14**5 B — S _ 0062&‘9%75 ARS
z«m 16

[x111] Decimaanber T Cube Root ﬁmﬂ%’ BEL G

Cuberootd 7 (one-tmaﬂ relationa’rfn 2 Haad IR g Némber
H saimwm‘aﬂ‘s‘ qal g Cuharootft 2 digit (37®) IR TIHAT SR |

Ex.: 30.024389 =7

0.024 3

Soln: 8 nearest Cube ] R D

> 2 digitq TEA Decimals‘ﬁnmﬁﬁsﬁwq Number 3 g9 @ 918 &l 6 digit ¥ |

(6 X % = 2] = 0,29 Answer

W—E#“—%

21






[== Square, Square Root, Cube & Cube Root

= =2 4 v L
ot b

x =y =(x+y)(x-y)
4‘ #  Square & &I, Bad Sum (@) @I Difference (3(cTR) | Multiply (7o) #¥)

} easy TS |
292232 = (29 +23) (29-23) =52 x 6 = 312

tll
(21482 - 437 = (48 + 43) (48 - 43) = 91 x 5= 455
(3:: 1292 = (132 + 129) (132 - 129) = 261 x 3 = 783

otk D o Sdalee Ll b

(a) Formationof S 1 §T1):-

e
=12+ 1
32=22+ 28 3
42.=.32 I8 + 4
.52=.42 +5

6°=5°85+6

n® = (n-1f

—

BHIT GO Tl

't;'.‘*}' ninbes: tural number is e to the s irst n odd natur

e | 4 oligla 6 :
WV g+ 5 |8 b 40 NGB SR 7P O s

52=1+3+5+7+9 62=1+3+5+7+9+11 é

n’ e 1 + 3+ s *“.0000 + (2‘- 1)
) ; ' RS :
{9, Ladnl = ab g [ Y
L e g g i’;{i-" 3 & N g 0 ST r: f
+2+ '..‘ 2+1 i ik—‘_ i il LR e & wiy e : \J!f "

L‘[‘:{_'“ S "AI'__ g 5 7, ] -l --;'\;.‘-.: S ,'i‘{_"'i'l), - | .- ek 23 —

22



[XVI] Special Properties of Cube:-

& Cubes of all even natural numbers are even.

' ) 99 Wipd G B HE 9H &4 © |

=7 ) Cubes of all odd natural numbers are odd.
af) faww wipa e & u faww gid 2|

=) The §um of the cubes of first n natural numbers is equal to the square of
their sum, That is,

uwu@ﬁﬁﬂ@rﬁﬁﬁmmmm$aﬂ$mﬁmﬁlﬁ
2 12+ 28 + B ¥ 2. + n® = (AFTPFFRGE n)

Ex.: 13 =12

1°+23=(1+2p \d9+2°+3%=(1L+2+3)

S  Cubes of the number(gn in digits 1, 4, 5, 6 and 9 are the numbers
ending in the same digits

al

[XVII] Some Interesting

Numbers Cube ‘ ?E of consecutive odd no.
\

1 ¥ =1 It

23=18 \)32 -+ 5

Y7 ‘¢ ¥o+

2

3 \ |AAN 1 i 8 4
UL L 13+ g&[ﬁ? +19
5

6

. N
5% = 125 21 + 23 25 + 2829

[ Maths Hack Book ]
|

6 Mpeg | @033 + 35 + 37 "G

23



m
o
Ex.
Sol
1 juea 10, 100, 1000, 10000 H&AT HT 17T Superfast T g,
BT 2+3+...... +10=7
Soln: fast number @7 half BT 3R Y 781 v 9 3R ford &I Ex..
' Sols
%34 = 5% Ans
Ex2:1+2+3+.4.. +100=9
 Ex.{
Soln: —/— = 50 aﬁ'\r 50 @ Bnd !Solx

/—\
Soln: 103—0 = 500 ;T.\, g }29 f Ex.4

Ex.1:

Soln:

Ex.2:1+2+3+2+1=?

Soln: 1+ 2 +@L}
\’33 @ Mo

Ex.3: 1+2+3+4+....+1000+999+___+1=?

Soln: 1+2+3+4+....,

24
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[E===———=Waths Hack Book ===
[I1I] Counting 1 Addition Rule:-
ﬁmﬁwm(MaximumplﬁaﬁaaslﬁaTnaﬂﬁmhmﬂ|
o ExAT1+11=7
Solmid 4 11
= 29R 8 3T 19 2 a Ao o
_ @ Ans
Ex.2: 1+ 11 +JAp+1111=7
Soln: 1 + 11 + 1197+ 1‘_12.

> 49R 2 Y 19 4 9% A R |
= 23D Ans

Ex.3:1+11+111+1111+1]911="7?
Soln: 1 +11+ 111 +4111.+ 111110 . °
—

= @ Ans ), |

Ex.4:2 + 22 ¥ 222 + 2202+ 220090 =9"
Soln: 12345 x 2 [2 @R 1 Digit IS0 &3 &P S%))

Ex.5: 3 + 33 + 333 + 3333 =
Soln: (1) (2) (3) -« (4
. 1234 x 3 = (3702 Answer

; ‘@
» - e W e B e W = AR S K 4
[IV] Reverse CMting Rule:- / J/ A

N
TWW‘OW s
o fraf 9% 13M4A1 & . 7 Reverse Counting for@

1 o i forg QT

Tl N
[T Number Repeat &1 & 8] \9
? /
» »

Px:l. 0.1 40,11 »7

Soln: 0.1+ 0.11
$
#f& 1, Maximum & R 3 ooy q¥Mad (Decimal) a1E See e (Reverse

Counting) 2 q Eh_Qﬁ 3ﬁ-\r 1 d® W'
0.21 Answer

aorEmry————C ¢ O Wocep
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—— 8peclal Ad
Ex.2: O.1+0.11+0.111-? E
Soln: 0.1+0.11+0.L‘_‘il m
iﬁalmmémwﬁwsﬁﬁmﬁ%@ﬁaﬁ? 1 %
fora |
Ans Ex.:
Ex.310.4 + 0.44 + 0.444 +0.4444 =7
Soln
Soln: @1+0 11+0.111+0. g._}}}] ‘
Ly 49R 1 1
= [1.7284] Ans
[V] 9 Speci [vi
Ex.1: 9+99‘?' = Ex.1
Sol - : f
5 i;ffliéwga- e T
gWfeTY 2 x 9 = 18 &' 8 (unit digit) ferer™ | | Ex.2

§+99=. A-ns

Ex.2: 9+99+9$9+999g p

Ex.1: 18 + 19+20+21+22=?
Soln: (Middle no. x 5)

20x 5= Ans
Ex.2: 757 + 758 + 759 + 760 + 761 =

26
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[VII]10 SHITA W&AT (Consecutive No.) HT Addition FefFay #:-

¥ case A &9 UEAl Number ¥ 4 Add H7 3R 9ud ar¢ 5 forg 241 |
39 YHR Answer fa-T SI1S 31 S |

Ex.: 442+ 443 + 444 + 445 + 446 + 447 + 448 + 449 + 450 + 451 = ?

Soln: U8l ternr= 442

S
& s

Wity + 72 WW \

Ex.1: 59+95 87 ~
Soln: |11 x Sum of Digits| = 11 x (5 +9) = '
' L G oA

Ex.2: 37 +73+46+64=72 R : 9
Soln: 37 *+ 73 +.46 + 64 2l k

= 11 x 19 + BRH 1959" ~
Ex. 3: 56+87+6’§W11,§3,£,§l_&@ [ B |

11[11 + 7 + 15]
— 11 x 33 = @6 Ans

27
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(1)

(2)

(3)

4)

Mohit Goval Sir

SUBTRACTION o1 =~ §
(aerd) |

Basic Subtraction &T XIHdTUT Method:-

Two digits - Two digits:-

N

(a8 ; 53 =25
NN

(b) §“6_ & §9= 2(—3] =17
4

&l 10#‘@\:1?rram 1 Digit Pairing & 31X 9TgR.@Tcil 1 4 &Y Q1w E
—veﬁ?ﬁT S

Three digits - Tw_o@L

=R

(b) 684 37 - 65(9 ‘ O -

= 647 6 / : '

Three digits — Three digits:- :
—% 4 |

(a 879 - 643 = 236 0 . Ex
B [ ¢ ! i

—3 !
b) 984 — 697 = 202 "
(b) 984 - 697 - 293} ( .:

= 287 E

;@_::?%Trmﬁm 1Digitpa;ringéaﬂ'\rﬂ1mm 13?#{6»‘{?1?31

F:

e

Four digits - Three digits:- ™ . l By

(a 2878 -b54-1724
N A )
/--\ . '

(b) 9863 - 368 =95(-5) = 9495 ’g‘
R )

ummoﬂﬁﬂa:ns’rmzmgitp {G

airi TTER ;

H —ve & ) ng @ 3k ardT 1 HH BY @ [

Four digits - Four digits:-

(a) 5479318 - 2061 .J 7
A @

9765 - =
(b) 9768 -5679 = 41(-14) = 4086

- e

28
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»  ¥&T 100 % | =T 81T 2 Digit Pairing ® 311X 918¥ 9141 1 %% &¥ 271 o4
fY —ved 99|

[l 100, 1000, 10000, ..... ¥ ¥ TRl Seconds H:-

¥ Case ¥ €1 Number ® Y[ ¥ Second Last Digit 3% 9 H ¥ (-) H¥d ©
3MR-Last Digit B 107 | UTd 2B |

Ex.1: 1000041234 =7

Soln: 99 9 10
-123 4

5766 ans (/p

2 ¢
Ex.2: 10,00,000 - 654321 =7 :
Soln: 4 4 g 9 9/10 C)
-654 302 & é
<
345 6 7 9 Ans
| ] ‘

2  f3a? zero (Base) & Number & zmt—r@ simal) § Ugal Sd- €1 Digit a1
ot (arfr Digit ®H & dl 31 0 e @) Gl avE 9 subtract HX oI

(9,9, ...5.. 10) ®¥d 2 | S
Ex.3: 1 -0.234567 =2 \Y
Soln: 1.0 - 234567 = 1000000-234.567. ¢
99999 10 | (@I TR ¥ ifastA] oY)
~23456% _

76 5 4 3 3] Ans=0.765433

Ex.4: 100-9.6532 =7
Soln: 10 O

99 999 10
-09.653 2

[90.34 6 8 Ans

> & 10 6ﬁ2zero§$ﬂ'f%lﬂ9.65323ﬁ@.6532%@1|

o 3@ Wi digit BT (Excpet Last digit) BT 9 ¥ subtract fa1 3R Last digit B 10
¥ subtract T |

o

29
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[111] Subtraction of 99, 999, 9999, ..cvveeei N

(@) o & Al Number § 99 FCTT 8l:- Sl

&% Number ® last 2 digit ¥ (+1) ¥ a1t ot ore ABI A (_:;;-,q it q
g &4 fodl M Number ¥ € 99 #! easily subtract &Y o |

-
Bx.1:729 -99 =7
9
Soln: 7!2_,_9 Ans L ?-—*" - [IV
2 49 —1 + 1
Ex.2: 42325-99 # 2
Soln: CDe_423 2_5(5@ Ane | Ex.1
AP

422[&?(} et Soln

Ex.2

q 999 HeTHT (-) 8l:-
oid g4 fHdl Number ¥ © 999

. . Soln
L BT 81 G & Number & last 3 Digh gx.3

A (+1) DR 2T R AW Dl A (<1) jﬂ;lmmwﬁﬁﬁmmm
4 ¥ 999 & Easily subtract X @ 4 :
Ex.1: 36588 — 999 = ? - \9 A §
Baln: LD e 5387’@ S iaae: SRS J Soln
& o9 | |(@E®ans [HERLY ni /
35 Sso%NYAGYEER ] LRSS § ?‘;& éf
Ex.2: 34975 - 999 = 7, 5

Soln: O ,, 975”® N ‘
999 N —

@3976> Ans
Y |

(c) 4 &4 f&l Number § 9999 Hemy ).

/
'r
W4 &4 fHH Number ¥ @ 9999 %}

T & at :
ﬁ(+1)m?}'ﬁmmsfaﬁff(- i B l}S

_ 1) PR 3| 90 9oR g faelt o Numb® ()
4 ¥ 9999 &) Easily subtract &3 o7 | i

Ex.1: 37699 - 9999 = ?

Soln: €D« 7699”®
(2! 7700 |> (27700 Ans

o
o :

30
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Ex.2: 423762 -9999 =7

3762”7®

------

Soln: @ €« 4

] i

|9x (Difference o‘:f
TRDE S
: 9(5 - 4) = [g]f2
2:72-27 = :
:o(7 - 2) = [a5]
: A student got 9

r interchanged his marks

Pl Y AT ¥ gqa

(a) 33
Soln: 91 - 19

= 9(9-1) g

g % SLRE L S A ol

iy ] A« ].qr Y AER “557 WA - il et
m - i?ri‘l &

31



gal® Digit & Multiply 81| b

abcd x-XyZ N N
ard/pigit A T e tiply 111, 104G} Type
- YD Dig &1 Unit Digit § MultiPly |

- %ﬁqpﬁ: Unit Digit

5 hold X w1 |r,'
100® Digit'Hold X ceaill _

e Y

<ER Number 41 10* Digit ¥ 3R

3 -

- GuR Step i Unit-Digit #) Unit Digit § Multipl 234,
Number @1 IOWE? ikt hes : =
Al C
albc\_d\‘_\:‘—/'v”(/,z ‘(ﬁﬂ z® ¢ ¢ Yaﬁ L g
X > _holdqi-ig'ﬂ'f | Q : 2 " = ; -,

o 3 Process ¥ A A Feldr ‘%) PRLL X :q'_ 23&
0 T gt BN 2 o DO wige A iy T
| | . - « (\ _» 21 ol Type 4: 4
+ R Digit #1 G¥Y Number B Last Digit § Multiply -
fx B1g 2d ¥ f5dll § Multiply 78l S & {)‘» i B 1200
abed x xyz 7/ | soln: 1203
N \/ __;',q—f” '
t means 34 next ste-ﬁ""# z &ﬁﬁmﬂ :g;l {nm T8 B 12Q
Type 1: 2 Digit Number &1 2 Digit Number ¥ Multiplv:- # '
Ex.1: 69 x 83 = ? . DC R
@
Soln: 62\1/853 = 7 gf; @
9 x 8 =
¥ g 131 Last Digit & multiply 2y ¢ o e 9 i 30
Bx6+8x949- 120
60 x - =99 ~
% 250 5727 [wg Digit ®T Arrow UH—Tp Di)git Y el & 8l
8 x =
S727 Answer ( g 57) A m

32



Soln:

Soln:

b
w
(e
X
O
b
]

3:3 Digit Number &) 3 Digit Number & multiply:-
234 x 182 #? :

234 x 1% A3
o i
&
234 x 139 ;%_)80 ‘
2@2 = 888 2%l glt"ﬁMultnply@fq—g W:ﬁﬂ‘ﬁ & 7t ey

1 ! BB
23 > 132 - (0888 304 1. b

¥ 1R NSRS AES

/ oL =1 Fe

4: 4 Digit Number ®1 3m¢i fﬁumbeg
" f Tﬁjﬁ” :’-i e -
1203 x 314 =2

@
1203 x 314 = 2

12@4 = 42
D
1303 % 314 = 742

@14 =7742
1203 x 314 = 77742
\2\_—//

1203 x 314 = 377742 Ans

(

Y

33




E? Multiplication's Mag:c
iply:-
Type 5: 5 Digit Number 41 3 Digit Number ¥ Multiply

Ex.: 21234 x 423 =7
3 =12
+ 21234 x 423 =
Soln No

®
31234 x 423 =
v

Qlw = %82

2@ e Ros2 | i
21234 x 423 = %1,982 |
S
21234 x 423 = 981989/ |
-~
21234 423 = 8981982 Kns? |
[lI] Cross Method (2x2):- ? | |
Step 1: S®IS (Unit) ® 3B B mul 1t R Unit Digit @ IR A
Digit 31T 2, al f% Unit Digit 7 3 10t place &I mind ¥ &1
3@ carry forward &l | 3 l‘
Step 2: 34 UTG—URI dTal Bl M GR—GX dTel b} B multiply HID Add B
Wil Carry 211 99 ! Add &7 ail¥ e tﬂ@'ﬁylgfas fer@ amt arat @l
mind ¥ &7 ¥ carry forward B | ( / 'j

Step 3: 3[4 T&TS dlcl A P! (Tenth digit) B multiply ?ﬁ%ﬂ‘éaﬁ? 8R1el (Carry) @l '!
Add 5@ for Ak | $6 IBR, 2 3BT B multiply easily B | s @
4 ¥4 mind ¥ BT ¢ |

Ex.1: 43 x 86 =?

<) }4
Answer j

34

ol e |
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Ex.2: 67 x73=7

Angwer

[111] 0.5, 0.25, 0.78 FX 0.125 I SIHX
0.5x%(2)=1 o |
orq Y F fpe) Number d 0.58 al g4 99 29 Multiply & & QHT S

ﬁﬁwm%a‘h“ ulationEaaya’tmﬁﬁélﬂﬁWﬁm
Number @\ 8 Number 4 Qileméﬁ'rableﬁ foray T 2 |

Multiplication:-

——
Number | Multiply Number wed Number

0.5 2) Q:l
j 1

0.25 (4)

0.75 (4) 3 § i,

0125 (8) 1 :1 :
| ¥ 3

Ex.1:56.5%x4="7
Soln.:Divide & multiply by 2
/'_\

4
56.5 x — % 2
2

113 x 2 = [226] Ans
Ex.2: 96.25% 12=7
Soln.:Divide & multiply by 4

2
4x96.25xl—

4
_, 385 x 3= [11585] Ans

Ex.3:13.75x 16 = 7
Soln.:Divide & multiply by 4

16
4><13.75><j4*
55!4:>An3
——————————— Concept

35




::: Multiplication’s Ma
’

5x480="7
Ex.4: 16.125 % 4 s oo
Soln.:Divide & multiply by 8

480
8 x16.125 X 3

_, 129 x 60 = [7740] Ans

‘[IV] Multiplication of 5 (5, 25, 125, G

(&) Multiply by S:-

gic Q

‘ "@@E_te{: Number (B) Odd Number

o‘ﬁﬁg"nﬁ Divide & | > Ygd 0Add HX | .
5 The{m;ﬁﬁ 0Add B! o Then2d Divide B |

(B) Multiply by 25:-

970
- 96 x 5 = 4604 — 97 x 5= "85
N2 -
O 43250
- 572 x 5/ 286 / — 4325x5= 5 & 21625
=28

2

2

720930
- 8612 % 5 = 43060 ( >/" — 72093 x 5 =
\-.._,_...-/. /

= 360465

O Then 4 ¥ Divide &Y |

360
—>36><25=._6;_0_=900

= Dio % aF= 97200 =24325 Vg

— 602436 x 25 = 602443600

=15060900

(C) Multiply by 125:-

i

S Ygd 000 Add # |

ks 1g8= o3, waten @ zero]
® Then 8 ¥§ Divide &Y |

m%g

— 432 x 195 = 332000

= 54000

- 521 x 195 - 521000

=65125

> 581648 x 195 - 281648000 _ 72706000

36
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Maths Hack Book S
[V] 50 &1 Special Multiplication:-

2 Ugd 00 Add o |
//® Then 2 9 Divide @R |
45600
4456 x 50 = = 22800
780400
— 7804% 50~ S 390200
813700
— 8137 x 50 = =7 ety 406850
D
[VI] 9,99, 999, ..... § I (Multiplication):-

Type-1: 14 1<l Numbers & 3(® (Digits) aXTax &l:-

o U case# f5T9 Number 'plymiﬂ'ﬂ'}'ﬁrainuslﬁﬁg
@ 34 YT Number (Resuma} L gq, ..... # A "l (Minus) & |
Ex.1:4x9 =7

4 % 9

) - ,

Soln: 3~ 1§ \9
¥ & 5(E6)ams

Ex.2: 47 x 99 = ? /,

Soln: 47 x 99
- - 46

49_/ \_,53
VG s
Ex.3: 543 x 999 =7

543 x 999
=1 / - 542

Soln:
54{ 457 % Ans

142
. =7
Ex.4: 476 o5 * 999

Soln: Step (1): §9 Ygat fif¥a ffa (Mix Fraction) BT & T |

& 76 999
= | A 475

475 - 524 = 475524

37




AR

o —
— Multiplication’s Mag! HE
Step (2): 475524 +142= 475666 v
475660, 999 - [475666] AnS
Step (3): 999’ - o i ﬁ a 3}_:“

o 9 el & e g H‘Wj
5% _/mﬁ Number §
?‘?“ : 9, 99, .- |

foa N mber & D (Digit) 9> 4 |
?‘jﬁ;azﬂﬂﬁ ‘d—cﬁu‘bﬁ zero 99 Number 3 arl H;ﬂ? —zﬁ ?‘Iﬁm r
ﬁm;tipxy 4% ¥ @ | Means Number of Digits same
| 2l I
- ﬁaﬂﬁmmultiplyas%ﬂmmmelﬁm b
Ex.: 47 x9994°?

047 X 999’

Soln: .i%——— % o

046 .

Type -3: 94 9 dTdl Numberiﬁ &fmlgit)aﬂ Sl
= U¥ case d &H W'Y ﬁﬂ[
- ¥ case ¥ G no. B Fra :1
999, .. efl i n be (10=
t Fomﬁﬂﬁmmmmﬂy 4.

<
Ex.1: 4756 x 999 = ? (/fy

Solanﬁmmmbermmﬁu%amgmeﬁﬁﬁu &q ¥9 9 drell Gl !
(Number) ®T =R J&hIF I R4 (1000 - 1) BT form § fogd 1), by Multiplf (L
FR S|
4756 x (1000 - 1)

4756000 — 4756 = Answer

[VII] 101 $T Multiplication Magic:- “A 2

L Two Digit Number:- o
@ xyx 101 = xyxy Sol
(1) 34 x 101 = 3434
(2) 59 x 101 = 5959
(3) 96 x 101 = 9696

38
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1I. Three Digit Number:-

r xyz x 101 = (xyz + X)yz

A
(1) 132 x 101 = 132/132 = 13332

=
(0) 237 x 101 = 237/237 = 23937

A~
(3) 393/x 101 = 393/393 = 39693

[VIII] 1001 &1 Multiplication Magic:-

Two Digit Numberx:-

xy x 1001 = xyOxy

(1) 24 x 1001 = 240245
(2) 39 x 1001 = 39039
(3) 97 x 1001 =97097
II. Three Digit Number:- %
- xyz x 1001 = xyzxyz

(1) 217 x 1001 = 217217 (?
)

(2) 683 x 1001 = 683683

(3) 927 x 1001 = 927927 O
&y
< N

ml. Four Digit Number:-
& WXYZ X 1001 = (Wxyz + W)XyZ

A~
(1) 1325 x 1001 = 1325/1325 = 1326325

(2) 4937 x 1001 = 4941937 ¢
(3) 8172 x 1001 = 8180172 o

[IX] Special Types of Multiplication:- L

Type 1: fas@ &A1 (0dd Number) * 5:=

Step (1): 89 QU 7T Number i ¥ 1 EICT (Subtract) 23 & A (N- 1B
form &1 WTd! € |

Step (2): fY 2 ¥ Divide <4 © |

Step (3): + ® aT& ST Number ST&l g1 S 3T 5 for ad € |

Ex:1.89x5=7?
Soln: (1) (89 - 1) * B

(2) % = 44

39




—— Multiplication's Magic | 1['_;
’
Ex.2: 225 X 5=7

Ex
Soln: (1) (225-1) * S P
224
— 112
@ =5 = 44
() 1120 = {25 Ans 8o
Ex.3: 1807 x5="7 :
>
Soln: (1)(7807-1) x5 ?
o
7806"
(2) T D 3903
(3) 390303 = Ty
|
Ex.4: 46843 x5="7 K ‘ Ex
Soln: (1) (46843 - 1) X5 C . sol

46842 o

@) — § 2344 §9 b

(3) 234210 = @84215 Ans O 1 28
Type 2: 15 9§ Multiply ([°1) &I sr—ﬁﬁ(r Qﬁ: .|

N x (15) @ &4 N x (10 + 5) for@d 2 | \S\, | Ty
Step 1: 39& Y UBd 109 o1 & & mﬁ@‘n’nber_a} T 1 zero
4

TR B |
Step 2: R Number &1 59 TN &=d & AT Number &1 a7aT ¥ 29
¥ '
Step 3: 314 Step (1) 31X Step (2) B1 Add TR IR Unit Digit w1 aid | Ex.
Bl X 39 UFR fHH Number B 15 9 multiply WRAAEdD, | sol
B YPHd 2 | L
Ex.1: 4264 x 15=7? /C
Soln: Step (1):4264 x 10 = 42640

Step (2):4264 x 5 or 4264 < 2 = 213

Step (3): 42640 g
+2132
63960 Answer

40
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Type 3: xx x 1 Digit Multiply:-

Ex.1:22x6="7
Soln: 22\:/6=1—2$3ﬁﬂﬁ 1 3R 2 &7 Sum 3

. 132
12
EL2P4 x 7=7
Solnd 44 x 7 R
oln: x = = 308
~7 =
2852 + 8 = 10
Ex.3: 77 x =%
Soln: 77 x 9 =698
A Y
63
Type 4: xxx x 1 Digit)Multiply:-
-
Ex.1:333x7 =2
Soln: 333 x 7 =24 —1 &4iF P 2 % Sum 3, 81 IR - 2331
s
21
Ex.2: 777 x 8 =7 %
Soln: 777 x 8=3 11116 = 6216 4
ols: 777 - LI >®
56 Carry
4 S 2
Type 5: af anfRad 3@ &1 a7 10 & i @] Trick:-
\ ;
519 & Number & SHIS BT AT (Unit digit) 10 & 31X CHEVA L
(Ten's/Hundred) ®T 3id HHIA gl @ 89 steps §I¥1 multiply

DR |
Step 1: S®IE @ 3Bl (Unit Digits) &1 multiply BT &1
Step 2: Wi 3 FHM Bl Iud +1 HYP _Finext § multiply X < |

Ex.1: 46 x 44 =7

Soln: 46

x 44
4(4+1)| 4 % 6
sl e

~

20 24

Q029 Ans
L a‘rﬁw%aﬂaﬁmnmnber(rw1mnext)@fgwrr%m%|
*  ZHS & oidl @ multiplication.

Ex.2: 116 x 114=7

-

41




116
114 | -

AR L.
11(11+1) 24

132 |2 L.
$T Sum 100 81 3 tr_g_?ﬂnosameg’f a3 @

Type 6: U4 Last two digits e LA

Multiply:-
Wa-Last two digit @1 sum 100 7l 3R 1< Number Al ggd! Digit Equal g’“ "
| S¢

Step 1: Last two digit &1 multiply %@ as it is [d 27 |
Step 2: 39 g Digit‘cﬁ +1 B W multiplyai?&f? fa@d 3R UP zero dIg

# forg < @ife 100 & @) zeroes ® |
Ex.1: 198 x 102 =2

Soln: : > i
®9-§f_@f;g / -+ 98 x2=196
. (l+l]x1_—.2"

G'0'196D s\Q
SO 4 (Oeﬁm'*ﬂﬁ]

20196| Ans

Soln:

I,

Ex.2: 997 x 908 = ? ’\y .

Soln: "m > . |
2 *903 »- 97 x 03 /91 [=
 E3

Gasbres | g e i
e 0 =0 faw & & Se
Ans . O
Type 7: 914 TE€I3 $i® (Tens- Iy ol :
8- ' 18 g S
~ 0 Ex

Step 1: Wad qgéaﬁrs‘ 3@ Tens Digi :

. s git (T.D) P multiply Y2}

:::: :.;: $ SBIS %P Unit Digit (U.D) ST same S5 stepl A Aldd HR el |
: 39 FBTE P B multiply oed G <7 | 3R U W aar & a &

99 ‘0’ Zero &R 2 Digit :
multiply X T T | - weﬁlwmﬁﬁ’m Ex

33V 6B Examples dd ¥ | /o 8¢
Ex.1: 37 x77="? T
Soln: Step (1) 3x7) = 21 ; Ty
Step (2) Add7 +7 : {><
28 oL
Step (3) Multiply 7 x 7. y 49
Ex
o -

42
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Ex.2: 43 x63 =7
Soln: Step (1) 4x6 = 24
Step (2) Add3 +3
27
Step (3) 3x3 = —09
2709 Ans
Ex.3: 69 x49 7
Soln: Step (1) 6 x4 = 24
Step (2) Add/9 = +9
33
Step (3) 9x9 € 8l

@ Ans

Type 8: Single Digit @1 9, 99,999, ...... § TV &1 @I Fast TH-{1d:-

B .
Step 1: o4 I &l 9, 99, 999&% fa4l Single Digit & multiply H=T
2 a9 We¥ ugel <I9l Numbers @ last Digit @1 multiply BRI |
Step 2: 31X Step (1) ¥ Sl UT< €311 & Break &¥& forddl fiids 9 €9
T ¥ | Last Digit (9) & 3fcdT o g ¥ fardd |

v

Ex.l: 99x3=? /
Soln: 99 x Q=2 Ol N
M7méaﬁ?q¢9ﬁwm27@(&vﬁww%@ééﬁl
4R _
Ex2: 999x5=% 4
Soln: 999x5 =4 9 9 5 Aa
- 9x5=45m%3ﬁ?a‘rgaﬂwm45$ﬁmﬁaﬁ9%@a"ﬁ%|

2N 4995
1 Ex.3: 9999 x6="7?
Soln: (3) W“

Type 9: 2 @ITAIR Number ®1 Multiply:-

nin+1)=n?+n

Ex.1: 14 x 15 = 14?2 + 14 = 196 + 14 =210
Ex.2: 50 x 51 = 502 + 50 = 2500 + 50 = 2550
Ex.3: 32 x 33 = 322 + 32 = 1024 + 32 = 1056

rEry———--C O ————— W corr

43




Vade

['_'___-""_'_'_—-"-'—-:_-_ Multiplication’s Magic

Type 10: 2 AR 0dd 3T Even Number &1 Multiply:-
an+2)=(n* 1)2-1 '
dra arell @ Square 74

e 13x15=14-1=195

Ex.2: 24 %26 = 252 -1 =624
Ex.3: 51X53 = 522 - 1=2703

1 ger &

Type 11: 41%41,51x61,71%81,...... -

Step 1: Wa® Hedt
Digit a1l

Place TX for@ < |

|
Step 2: ng@mﬁaiﬁaﬁaﬁsﬁmswpﬁmUnitnigita?m'

zH1s @ AP (Unit Digit) @1 multiply

a1 3R Unit

Step 1:

Step 2:

Step 3:

forg 27, arT{ Wl$ 3R < Digit T Number T gar 2 dl U® 3s Ex. 1: 402
forg ot iR I ATl Number carry ®X AT | Soln: 402
Step 3: 374 GEIE dlel bl tiply $Y31 @i1X Step (1), Step (2) qrel No.
@ amt fa@g <71 39 E’Weuﬂymulﬁplyﬁmgl
&I Y8 ? ¥4 mind ;(fnéwnhautpenl 4
Ex.1: 31 x 41 =? ; '4 ? [3¢
Soln: x ®/ 4 | Ex. 2: 60§
%9 % ) | Soln: 605
@ S
= [1271] Ans / |
Ex.2: 41 x 51 = ? 8777 [
Soln: 41 x51 )
XU | \ \Ex. 3: 809
@® ©®® ~'

= |2091| Ans

Ex.3: 51 x61 =7

Soln: 51 x 61

x

Carry
e
30 | 11 | 1

== Ans

arEmn—
B R e,

a4

'Soln: 809



[=————-= Maths Hack Book

Type 12: [a 0 b] x [c O d]:-

Step 1: S®I3 ® A®I (Unit digits) &} multiply HX7 X mind ¥ @7 |
afe multiply %@ % 1 digit arhl 2 @ SUD At 0 @ 21|
Ex. 08, 09 etc.

Step 2: MIH—UI 3R GRS AT IABl DI multiply I IR 3uw A Add
Hy. A7 | ufe 3 digit BT No. YTl &IdT @ dl 2 digit AP B AR BT
Carry'Forward X |

Step 3: 34 VS Al JHI B! multiply S 3R am forg A |
afes fi8 | Carry 9T @ Add &Y 7 |

Ex.1: 402 x 904=?
. Soln: 402 x 904

(= |
os~7§z
36" 34 08 34" = (4 9x2)

B g’? ,
363408| Ans 86" =4 K

Ex.2: 605 x 708 =72 :

; ,
Soln: 605 x 708 = 5%8 ¢
42‘ 83' 40" (5)(7] +{8X6) c
o —ex7
428340] Ans : - | ( {
Ex. 3: 809 x 907 =7"
Soln: 809 x 907
. -.—63‘ =.79 %7 1
= (9x9) +(Bx7)
?1
Carry
73" =8x g9="72
+1 Carry
L 73

CGo=— Weoncept

Mohit Goval Sir
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Eé Multiplication’s Magic g =
Type 13: Vld &4 Number @ Last Digit 5 g d Multiply : | &

. |

- (P"’d“ct ¥ Sl;m]zs’ If 10t digit sum is even |

y 4 j |
¢ ‘M’)Fxl 85 x 65 = ? !i‘ o8
3 ;| Sol

3 sgr{fxsﬂg;’]25=[48+7]25=5525 |

Ex.2:'45/%/65 = ?
’ \- Ex.
Soln: (24+@; 25 = (24 + 5)25 = 2925

g 4

Ex.
Sol

Ex.1: 75 x 384 = ?
Soln: 75 x 384 Q

100 x 288 = 28800 Ans ,
Ex.2: 36 x 520 = ? J

46
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+4 k1 -]
Sl @3

40 x 468 = 18720 Ans
Ex8v375%x112=7

Solne”375 ) x 112

@i

15 16
400 % 205 = 42000 Ans
Ex.4: 825 x 972 =%

Soln: 825 x 972

s =) D

11
900 x 891 = 801900 Ans

]
Ex.5: 2125 x 2214 =? - f
Soln: 2125 x 2214 Q
-] +1
ll—g a 7/ )

2000 x 2337 = 4674000 Ans OG

4
Approx ¥ g9 Method &I Use:- £
i8] Option §¥—GX gl 98t &4 oA Answer [STaTel 5‘%1 Question Solve ®X
qhd = | y
Ex.1: 88 x 564 = ? 7,

Soln: 88 x 5641
+1 -
@[ @5

100 x 494 = 49400%(SHI*T) Approx.Ans and Accurate Ans. 39632

Ex.2: 123 x 537 =7
Soln: 198 x 537

@)
100 x 671 =67100 (&RTHT) Approx Ans and Accurate Ans. 66051

Ex.3: 968 x 472 =7
Soln: 968 x 472

@l @5

1000 x 457 =457000 (@) Approx Ans and Accurate Ans. 456896

ay———— CoO——————
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saaa ic
:-—-'-—-._::: mtiptication's 5 S =

Ex..
e 1: ol per B % ATTPY calculate-ﬁaa'ﬁ"f mth ;.
Number o 3 B .
o ?kﬂaqg ﬁium Nearest & | fp¥ % help ¥ €0 :
approx Ans |
a® TEAd © | RS e e :q
pk.: 125%88=7? o
SolmtsApéwer 8800 ¥ TSI IR (100 x 88 =8 E
1
1256 JP.5%=73 b=

| Solr
k .
-8‘><88=11 J

8800 ¥ efr_@rzraﬂ1%u'€r Answer BT |

qAHA 2: Numberﬁ-" HFHX calculate BT Y& Approx
find #%d ¥ R Decimal @) help & maﬁ Digit find #Xq &
correct ealculatgf\'ﬁ ﬁ 1% -

Ex.: 65x80="7? |

4 N\ {
Soln: 4800 Appx. (60 x 80 = 4800) !
6.5x% 8 =52 (Approx Ans ¥ BH erofzeroanf{E-T\_rllﬂi%U |
4800 & H4 5200 B Ans BT | “
L A 3: Dec% 91 Number add &I © % ﬂlate .
Ex.1: 44 x 8] =

Soln: 3200 Approx. (40 x 80 = 3200)

44.44 x 81 4 \)

4
E*Mg SAMAY .44 add 3R i

48



[=————o= Maths Hack Book S

Ex.2: 67 x36 =7
Solny 1800 Approx (60 x 30 = 1800)

6666 x 36

2 é%

= % =2400

.4

Ans 2400 H-gifer @Sl 87T | 5 &9 BT B (.34) Subtract fHar & |

GLERTE &YX calculate HIAT J
ST

Ex.: 225% x 80 =? , .
Soln: 160 Approx Ans (200% >80 = 160)

8x2.25=18 ‘
Digit 18 AT Ans 180 Bl [ aow.zsgmm%a‘r 180 @ Range H 81T |]
“%
B
; /

:“"\‘5";- g =
] "M‘m“'ﬂﬂ‘—'ﬁﬁi

49



{1] , Division by 5" (5, 25, 125, «.ons)i

(A) Divide by 5:-

(1) ?/)86 —»8.6/N

x2 C}

7N
@ 27 _474 474

) /‘9 |
%2 / >
3) 12:;12’—}24624 52462 4 O

(s

(B) Divide bx 25:-

(1) — =332 »3.32

25

x4

@) &,}36 936

25

x4
,——\.

(3) 1221552 ol

(C) Divide by 125:-

Step 1: Ul 8 § Multiply & |
Step 2: 19 Right ¥ 3 Digit (3%) BIeTY Doy« —

50

(3)

i
Ex.1

Soln

Mohi



[ Maths Hack Book S
x8

412 )

(1) 3296 ——3.296
125

%8

"N
2) A3 _ Y9624 — 9624
{25

x8
21203

e R
125 169624 ——169.624

(3)

Special Case: 51§ Last Three Digit 125 § f¥9154 (Divisible) &1:-

—

-,

o4 Number & m@\jﬁ 125 4T 125 $T Multiple & 31X Number &1 125
d Divide A1 & dl

Step 1: Number & ﬁw 3% il 125 @ Multiple ¥ ST 1259
Direct Divide d¥ v dl|

Step 2: 4 Number & ¥4 gq@% p! 8 § Multiply 3% 3iX mind
; ¥9 gl Number (Step 1# La Add B 2T

, guas N
e aen e A
\J
Soln: ¢
13250
. =D
Ex.2: 125 T

MG
ncept
-

51




112875
125

=7

i

(2)

T (3

- B

(2)

52



[————== Maths Hack Book ==
[II] SO &T Special Division:-

_Step 1: UEd 2 ¥ Multiply 3 |
"mj)ep 2: 34 Right ¥ 2 Digit (%) B18&Y Decimal &Y |

(1) 81'-\“162-—_,162
50
x2
237
2) — =474 4
(2) =0 7 ~yt T4
——KZ.:
@) 2232 - 8704 , §2f04

[II1] 99 T Sp

«%nmam ™
(1) 2 Digit Division:-
) — 20313131 .= 03] 9:

b) -2 §0.787818 ... = 078
99

(2) 3 Digit ion:- ,(
128 4 | >
(a) —55-1¢28+1) =129 /

a7 N -
b) 2 - 237+ Mg 441
99

"-'-\.\ e
(c) %%2:»9(89«}9] 998

(3) 4 Digit Division:-

(a) @.(34”21:12%
() @S.{4§+17]=45.6_2

8391 _ g3 83+ 91) = 84.75
@ = “Rum o

e ———— s MG
arEmEy—- O 2 = e

53



ﬁ'“_ g ™ g;'g‘;m  —

o !
pivision @1 Postmorterm % ===

- 1 (1) A«
[v] Add-Sub-Divison Method (Fast i) . K
Numerator (31¥) . Ex.1: 7
Denominator ('ts'?) | @)

B = . o

F ar e
4TC & oW (Numerator) § ®F Add/ Subtract < p—e B
(Déngiminator) # S R d Add/Subtract P 1 g
Frac qgel arelT Fraction (N/D) &7 L 3
g
il
Concept:- %

| (v

Ex.1: Z e
Soln: MR & 377 (Numerator) 3 S)Ad % ¥ )& Denominator § 12 Add®¥ | o
4 1 i
2r | v @) | W (Fractio }s’rwﬂﬁﬁfﬁztﬁ% -
5, :
8|

afeB 4 :
| S e .

Ex.2: g

\
Soln: 4f2 &4 3% (Numerator) § 7 Add %Y & I &H &Y (Der’f)rq#ator) ¥ 35 Add
HAT BIIT | UHT HX A f—oﬁm (Fraction) 97 i1 f35 3ty % DN

1+ _
SNy s . Soln: (d

« §9 UWE ¥ Add/Subtract 981 ®IH ITAT ® el Divide HIT qRed
gar 21 3 Concept &THT (Approx) ¥ &TH Iyrar 2 Gl Option
Eliminate $Y® Answer dd ‘«'IéﬂT qar 2 :

> Concept, DI, Percentage, Profit & Loss, Interest 31fe & warel
Fraction &1 Wedl &1 &¢ a1 2 |
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[——=== Maths Hack Book S

(1) Addition | Attack:-

355
Bx.l: oo =?
(a) 0.3462 (b)0.4958  (¢)0.6572  (d)0.2762
Soldt: AS R B foru &\ - HH 0 & 0T "4 9 N BT 8 d1 599 UaT el
700 700 |2 e
355 Jst
716 /2 a% P B |

JBl & ;ﬁ%{/ﬁ (Denominator) H zero dTell form 90 fOTRT Divide Easily &
GTTQTFH S 800 el WU d1_Calculation easy & ST dF 849 A1 84 Add

ST 2 t{s >FFT‘1FT 2 T[T
@ g8l 899 Denominat \ﬁ 84 ,sdd fopam g@ferT Numerator # 42 Add far for
— a% g 97 | 2, C?
397 _No0.4968 /
800 # ?
Hence, option (b) 0.4958 Answer @
355 # Calculation ¥ Divide B %/ (1= 0.4958 T BIaT € | $HferY

e
7%
AR Calcullation, Real Answer @ faeagel @Y ] ) p
<
483 P 4
Ex.2: —— 758 =7 _ /
(a) 0.7128 (b).0.6512 (c) 0.512 (d)0.6634
483 480 [2
Soln: (d); 728 ~eTTTHT _——,726 3
x24
+48 y 2 x
/--—'--\ 2 -3—- = E
i B
728 800 x24
SSTIRE
+72
(1 72 Add fear @Tfd 800 & 510))
531
= 300 - 10.6637

Hence, option (d) 0.6634 Answer

m—_—’——:—‘-———-—————-———

ey
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‘ Division @1 Post

-—- - ?
Ex.3: 593

e ———

mortem === " ._

‘iﬁl

(c) 0.3210 (d) 0.4321 =

(a) 0.2568 (b) 0.5679 ,I_. _,
hie g e
Soln: -(an_ AT 300 4.x2_ 8 >

l S A |

s\ option (a) 0.2568 Answer

2l _ 77 _02566..... -

. Me
' Ex

/ 355
L TiB so

(a) 0.4650

56



[F=————o= Maths Hack Book |
ar Numerator § 25 HETUT 3R Denominator # 125 e |

=25
e AR

631 606
= ﬁ=m=
g

=125
631

3129 - 02019 Acurate 8 F9feTY 0.2020 $U® nearest & W Option (a) Answer
gl

[V] Calculation® 5 Golden Methods:-

Method 1: 9 afcl Number @ 100% #IHM®X. calculate HXd 2 |

364 )
700 P |
(a) 42% (5) 52% (c) 38% . (d) 58%
Soln: (b) /700 - 100%\ 6 . & |
70 F> EOGY ‘$ R
7w > % /‘ Bt
358 - | 50% o i
14 = 2%
364 - | 52%
Method 2: Denominat {aﬂ % HTH 'g_'_.._ y
E 825 > % ISP REN 8 s arde g
TR b Y V4
(a) 49% rﬁ):ugﬁ‘% (c) 57% | F}___::;.“’ (d) 55%
Soln: (b) 1250 = 12.50% (let) ""tM ;
1 ,
8
825 4
ol 825 x 8
8
=8.25x8

=64+ 2 =66 ok R
*  Only Number R Work @Y7 Option # Number f & | Decimal 3R % @1 help
¥ Number find FX |

Hence, option (b) 66% Answer

57




Tel = =3
% () 5.66%
(a) 3.87% (b) 6.97%

#n_ (©) == 53 EZ —--55%
5 50 & vt 9T AT D §§>§Zémgﬁﬁ

zs-f :
(
Ex.2: .
; 85 17 A6
Soln: (c); 325 *G8
16 —¥25% _ j': 4
0. 5 10 - <
Answer & 6% I IR ¢
) @ — (
Ex.3: 65
(
(a) 44.6
Soln: (a); Option 40% ¥ abov (
65 B 40% - {

bR T (o T
2 %_4.-_;__ =

0.65 - 1% 3 Ap"m.4m

58



= Maths Hack Book S
550 1300 | P51

Solmid) 1555 = 57 95w oA

T TR Tk, b f ¥
e i) T el ¥

W4 option ¥ Decimal § Ugat -3;"{3"‘1.‘? [—aTelT Numbe
Number find #¥® Answer mark d

59



E
SRR
I Divide by 9, 99, 999, ... (1¥P il I
(@) 93/ Divide (ATT):-
N abed |
Cime T itﬂﬁ Su
Ex.1: 73
i Soln:

C@uotient];

Step 1: I&l ﬁr\' - @+b> TY
aigit & 3 @ 1o*h¢ug1taﬁ Casry Forward @

Step 2: Af ?TE-'%*M .3 d), Kl -_ ST T‘{iﬁ} Quotientl‘
Remaindes FrapTerc -é°?| wﬂ I m«Quottaﬁ*' /s Digit A ¥ gy 2. 5¢
Carry Ugdl %Quotientﬁ s ad 2| ' Soln: 5

4 Sum Single Digit ﬁm J | , i L

) 1 5

Ex.1: 2310 +9=7? D
Soln: 5 - ; s %
1
Ji

+ + + 9) 2310 (256
18
51

5 6 s
2 i | Ci) =
54
(Quotient) Ans B

(Remainder)Ans

60
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Ex.2: 4236 +9 =7

Soln: 4 5

469 \|r

1 Quotient
. @ Remainder
Quotient Ans /

@ Remainder Ans

o194 Sum <1 Digit #,3C -

Ex.1: 735 + 9 =7 /'
Soln: 7 3 5

7 ‘10‘ 15 Q/ ,

2-0 letie?@{emaindcr
4 L 3

s o |  Q

d " Quotient Ans Reminder@m "

Ex.2: 5968 +9 =7
Soln: 5 9 6 8

+]1 Carry

/

Carry
+£ 28 _3) Quotient (I) Remainder
;.-2\ 9
5 14 20
6 6 0

3 Quotient Ans Remainder(]) Ans
6 6 3

Viohic Goyal sir e D W copt

61
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Ex.2: 34552 +99 =?

3 45 52

=1 Quotient @ Remainder

Remainder(1) Ans

&7 Right side ¥ pair

63



—'“uﬁwﬂ"""' ; u

! Wlonf & Romalnder ( nmpt =

| —

N _ abed
F 11

e 2 /\

(/5::::“,

64



”5ﬁa--1m%4mﬁmm“ i

ottent m Remxindet Ans

Ex.2: _673929. N
Soln: 6 7 3 3

65



" Last digit should be 0 or |
/i 0 1 2 2 RIS G rrRe
4 > Last2digit should be divisible BY 4. e
aii%fﬁ..zafﬁ4afaﬂmaiﬂtmf%‘€l 2 3%
[
8 » Last3 M_hould be divisible by 8. -
. _ oW x: 1234
sifem 3 3i® agﬁfnw e iedl e m
16 > Last 4 digﬁ;‘ii_ﬁd be divlli‘!l (P3P j W pucwrag
00 SR Bt SRS SO A
4 M
Ex.:21 ﬁ—% ___aTj. x: 3423 -
E:Zmﬁ
23423
g 7 112345
R L:;t: Pguonia be divisible HHEE O’ < 5
a 2 % . ..r.ff—""‘- =
| e S 7L s
- Last 3 digit should be divisible by 125. & sum
sifm 3 3@ 125 | sy 8= =fe farg
625 > Last 4 : 1
g digit should be divisible by 625 x 1233
i 43% 625 ¥ fawrsy gy : ‘i
q1fav | o
Ex: 123405 soase e B 1 Rule:
Ls5\ i f “;
e

5\ 25\~
125x% M;

25x%
R ————— ¢
et T
! ) '.-. 4 ¥ =%

66



gﬂ-' — Maths Hack Book _ﬂ_l

3_, Sum of digit of a number should be divisible by 3.
< ® aig) @1 At 3 W el sl afe

Exy/ 423456 - 21 - divisible by 3

Special Method:
Cang€lput multiple of 3 (3 31X Fu® LTSI H Pife)

-~ V2 £ 48 B, > OV

6 &1 Rule:-
6 > Check divi
23R 39

sibility for 2 and 3.
[dj«Check & |

Ex: 12 34> Not divisible by &7 Jg 6 W divisible el BT |

7 3i¥ 13 &1 Rule (Same for Both}:_v:
ger 2| Lastd 7 foQ 790

Ef?lpairing‘ﬂi'\"'ﬁﬁ 3R 9 qd1 B3AT
3 @ fag 139 W &= a1y |

(i i
Ex: 3423 -|423-35 420 | 789\~ A) ,
tlm.\g
139 x /N
23423 42328400 79 x ~
8 153 N
1123423 — 1128-428 5700 79 \~ </
13 9 x <

T HE B mwtla 3-3 digit &1 pan;_;ng-aﬂ*-ﬁ 2| ‘\‘Fﬁ 0dd pair
1 Sum FYHTaT & ael Gl Even pair &1 Sum Fioral & §4d 1<
Sum &7 rax Frerasn | Last ¥ wi frelr ag 7@ fag 7@ ok 134

farg 13 9 W @ Arfey |

Ex: 123313213 _, 213+ 123-313=336-313=23 . 79 x

e 7 139 x
9 %1 Rule:-

Sum of digit should be divisible by 9.
af% fag ¢ number ® J®! FT AT (Sum) 9 | RIS (Divisible) 2 al
ual number Y 9 A fAFISA (Divisible) E17T |

67



- =R "RE —_____\
I::___.—___-_-""“'—::: pivisibility ques ————————N
7329753, 9 3 fawry (Divisible) 3 7 ABI? T— e

soln: 7329753
7+3+2+9%

gyfay given number

7+5+3=36,9 J Divisible € |
& o fwrsa (Divisible) 4

or its Multiple.
a1 9 @ OB Bl BIC | AR

?mtﬁrm
. 752(9/55@ﬁ9mw,wﬁva‘sﬂ@ﬂ9®Divisible%‘] g 10

11 &I Rule:-
Even 3ilX odd place d H ? | Soln: Ste

T Y ARG A0 BT AR
/‘@\ C‘% 1 Ste
Ex. 1: 123456512 -95@) 11 ‘)
RO /)

St
20
Ex. 2 24%31_9-”0—16-,@11@* ‘/
S

/\/‘v@w \ (\
Ex. 3: 2W2%29~25%@11@x “,;
6 o,
Y

Ex. 4: 2468781007 27216 >@) e
11 1
_— 2 : A Soln: g
AT (Divide) 95 Numbers & foTU Special Rule:-

LHS. ¥ 223 & pair ¢ 3R pair 7 4} @} LE.S. 9 0 (dero)

?ﬁm;\rq?rmwaésnvw@%ﬁ Subtract 3 ¥ | 314 solve |
11 fiel at 11 9 Divisible 2 ar=rery TE B 2|

ifere 3 @ T A A T g

Ex:1. 98

__._--"/

Ex.: 359247615447536915 =+ 1l
359347 61 3447 33 63 15
b

2+7-3+5+1
TR S
= 0 RS

| : 119 Divisible |

68



T

Rule 1: Lz tyit x 4 + Remaining Number:-
Ex.: 611

Soln: 611 =1 ?\
=.65+]1

+. Number, 13
Rule 2: 3 Digit P
Ex.1: 277498
Soln: 277 498

Number 1:
Ex.2: 4132838

710-372 =338

338

‘K-26R 0

3T Given number 13 ¥ Divisible & |
Rule 3: Rule of 143:-
Step 1: W4 No. 91 & dl Rule of 143 Use @R |
4132838759387

' 3'“@% LHS side ) wciw Digit @ T X +1+ 4 + 3 TAT TH %
- X AT (multiply) $<4 € |

69

Soln: Step 1: Las . , : asit is ¥&+ 27|
Step 2: & ] ATl pai 3 r sut BT |
Step 3: Finally §a®! caleulate X1 | Sl S afs @t 13 9

~1,—4,-3




T —

Ex.: 4356
Soln: 4
435()x4
435
+24
3504
45
+36

81 +

" - .y sq f T 4
iy Digigivility Check 08 7 Num

31 Divisib

M, posite Numbers
Po " e @ R Check 3 € | g+l
Ex:. TN\ 2%3 (ﬁaﬂq 3'6) ?ri
12 V22 g (a3 39) Rue-
45 » A5 (9311'\' 59) Ex.: 10112
o a9 4) Soln: 101
101
[111] Divisibility Rule &g’ @7 Oscillator Method:- -
: : 102
fipefl +) H&a1 BT Rule TR @ﬁ-ﬁ: H@a &1 U8 No. € Multiply? 1
aTLastw§1aﬂvga:rm|'a@sw‘f1aﬂ\t9ﬂﬁm§iﬂm =
| 7T T @ UBR B Rule |
(A) Last § 9 aTdl, (+) 97T Rule &+ |
(B) Last ¥ 1 dTdll, (-) 9TaT Rule &577 | X 59 e
(C) Last Digit 9 41 141 €14 darell Rule ¢/ 59 —
() 9, 19, : [ﬁ
' Step 1: +1 ; ; ; -
N +1 &S Last § 0 arefl Hway qeh 2 Ex.: 1357
ep 2: 1 2 Q N :
4 4 ;ﬂm Aded Rule + § gjary <»~ \ Soln: 1350
ep 3: REC BCE R >4 )
0 ESTHY multiplier ficl w/(x) o
A9 + Last x [%] " multiplier : \ 177
y

: . > N
Note: RD = Remaining Digit (ﬂ'q HE E
39 &1 Rule:- ) |

39 —*1 40
‘  multiplier gy ¥

IRule f_;_ RD + La'tDigit *+ BT Rule
x 4

m
g 1Y wﬁ

70
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[—————= Maths Hack Book =]

Ex.: 4356
Soln: 435 ,

435
- 24
j .

i

45
+3 :
9 x U8 Number 39 ¥ divisible & 2 |

79 &1 R‘QO S

79 ——+1—>8()’/ 8 multiplier 3R + T Rule

\E;le—)RD-t-S@ﬂ“ R '
:_i' gy
N\NJ #*

Ex.: 10112 N
Soln: 101@8 : A
= 1011 -
i +16_ & Q
1027) g
| 7)

{ 10§
+5 s e,
le T 15 ;—:79~/’ ﬂgmmrﬁ%%ﬁ”!

5&@@1&\ - - l

I59f¢1—->'1'. 6m@mm+ﬁm" ('(O
q Rule — St | O
i Ex: 1357 e }

: Soln: 135‘®'*6 : T &
135
+42 < ;

177 + 59

Number (1357), 59 ¥ divisible € |

51, 61,71, 81,91
- o arell Wt S|

11, 21, 31, 41,

7



[
(1) UEf 2-5

A 16

(2) 31 12

2
| (2
|, o1 ¢d Number kil muly, Qu¢
| gﬂhﬂm%‘ Ex.2: 673921 -
|
.:. SOIn: M/
6 1
s Ufd 2-
fergav -
-.’ b
E Y ’ HuY 18
: 56 _ %
| 27 + 8 T

8451, 27 ¥

72



Ex.: 595 263

Soln: 525 52 63 e
_(52+5)-(95+63) =101 ' |

.. 5955263, (Minus ignore
#1 add #%@ last ¥ minus 3% & A9 101 7

~ Alternate 3 digit ® pair =
R 21 Last¥ Wt fven T€ 10019 T B <e @ at & wd wen A 1001

#3101 9 divisible ®))

73



jpility =" N

pivis!
—— —_—

aotn: <X iazonyg - (084 + SIAEEEE Soln: ¥a¥ e

6525

r ible © |
. 584820236, 1001 ¥ divie! 11,13 9 1 divide ghy

as 7, g
Note: Gl Number 1001 ® divide BT ’ : _ _Ff):z
« stmild ule:- qId 19¢
. visibility R _ _
V) 99,999, 9999, ... @1 Di BT |
99(’51Ru1e— v 111, 1
forat |
;ep ; ;—E ;im::e:de Q1Y 3@ & pair SRSl
ep ght s
Stgp 3; afe $IE aid (Digit)leftside. i Unpalr E GITY, Sy Step
digit numberﬁ & ™ | Step
Step4 uﬁ g#ft Pairs BT a17 (Sum) 99 ¥ fAHTOT (Divisibly] Step
:mn number 99 il +f fawrsa (Divisible) =R E ;
tep
Ex.: 124146114345 /Em—m % 71 aé’f?
TS Eﬂ&éﬁﬂﬁ Ex: 579876
2+41+46+11+4 . Soln: 579 87
198 + 99 3rq: & rar n 3 divisible 2 | : ——_;9-
= oI
1+ 99
= gl
/
,
..... 0 3| 9 nuI
TrIIT number'lﬁ gggﬁ 3 =
o nurnber Right sid 4 Step
579 876 543 side M Eﬁ pElllf‘ﬁl:fl'3‘f §I Stej
= 579 + 8 876 + 543 = 1998 : Steg
. 999 x 9 Steg
. D ‘
Divisible & (Divisible) & SR fam o fyumber ¥ 65 2587
9999 @1 Rule:- nu - iy
Step 1: &g p
Step 2: 34 rl:hlrt::m
Step 3: uﬁﬁ_{a_‘;ﬁ Wﬁp
Step 4: uf} ‘mzitl. Ungloge ot Tua | “ i 990
T numper . TS 99 ST @ Qﬂ &7 |

m%’"”“ o T i
e L
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‘\

¥ Sigg

ible) 8 i

A for@
2 a

[ Maths Hack Book |

Ex: 652587344739, 9999 ¥ favrsr & ur w7#}?
Soln: TaY UEA ﬁf‘l U number P IR—AN P pair AT |
6525 8734 4739
6525 + 8734 + 4739 = 19998

Hfs 19998, 9999 ¥ ATy (Divisible) & | SURIT 652587344739 1 9999 H
50 (Divisible) & |

VMATL, 1111, ...... &7 Divisibility Rule:-

Step 1:/®I$ Number foral |

Step 2: Right Side § 3-3 3(®| (Digits) ® Pair §-1¢7 |

Step 3: Ifd original number &1 left side ¥ f&HH] 3H Digit(s) FT Pair
T S R A R A

afe Wl Pairs %1 FW 111 W Divisible & a1 4 Number i
1119 Difisible & |

Ex: 579876543, 111 9 famredl @ isible) & AT &Y 7

Soln: 579 876 543 q
— 579 +876+543=1998 * ?/

——
1+ 998
=999

A G/\

9 ™~

%”'gﬁgimberzﬁ 3-3-@ pairs @T Sum 111 ﬁﬁm@ﬁw 3 Number ¥1 111
3 faTeT R (s

Step 1: @IS Number fora | 5

Step 2: Right Side ¥ 4-4 J®! (Digits) ® Pair I1Y é"‘

Step 4:

¢

Step 3: AfS original number @1 left side 9 fHudl a0
&7 Pair 7 9 a1 o9 W9 € faw A

\i t(s)
Step 4: af& ¥Hl Pairs &1 Sum 1111 |/ farsy (Divisibl&%
number ¥ 1111 9§ fa@Tsd 8T} 7

Ex: 652587344739, 1111 ¥ {4 (Divisible) 2 a1 81?
Soln: 6525 8734 4739 = 19998

PN

1 + 9998
i

= ™ . -
#f% 9999, 1111 ¥ g & ZafeT A number 1111 W o fprod (Divisible)

e i | q -
R 65~

T ST
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-

(M'ultiplication):-

M ford < = 1 T

B s 104 fpael Qa2 3 6
e 0075

pul ' g : mbers 100 & Y4 |

‘arﬁ - - '
Y g Y # multiply &% &

Step (2): Nt i : “

<l Ad lamawzu--m

Step (3): 14 & vﬁm (Number) ¥, q:ai’r AT (Number)?

¥ o 09 & @ ‘ +4 41 2 = 106) Cross Add

R | ' i

.t-b’.ber) & I fow

110 45 l
14 Mu
Carry Fiftrat

114 + 10

ord Carry (8Re) B 1243
dd
3 %% am WA mutiply 7

Ex.3: 1230 x 1003 =?

76

[I] VBOD
V 5> Vi

B - B
050
D Di
M > N
A A
S 5 S
gl or
aad! @
Ex.: 38— (6(
Soln: (I) 16-
(11) 60 +

. 38-
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Soln.:

1230 48 7 By
0 -
x 1003><;+3 -
f
. 1233
1230 &70F i
+3 .
J 1003 + 230 2 :
={233690) Ans i-

Ex:1.98 x 97 =7 e
| S

Soln: Step (1): T&l sushbet 100 & @ 21 10

{.
(N) @ 100
fion P |
=4 (Number) & b

" o

e

Ex.2: 9750 x 9998 = ?

. ¥f5 el [10° =10° =10,000[® T4
I AT (Numbers) ! multiply

9750 -250
0500 ; /%
97 48 x
/\ 250 x 2

or

9998 — 250
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I \ ___AQP ¢
Base wuitiptication™? QI:
o e 'ﬂ@ﬂaﬁ (Numbers] b

Ex.3: 667 997 = ?
@ 34 Cross

v oot v 1000 8 T g
omﬂﬁmultiplyﬁﬁmamﬁﬁ = aifd SYR o
[IV] oI SiE

667 ><;
'} x997 -3
t T uid Num
0.57-3 ya e
Q 997-333 333x3 Step 1:
s

. o o e

Ex.1:95x115="7?
Soln:

Step 2:

Ex.1: 212 x 21
Soln: J&f ¥a4

12% 13-

x213-

Ex.2: 1044 x 998 = 7
Soln:

T G

. " Ty 1000V gy _ g, i
g P Bﬁmﬁmﬁaﬁ‘lg

¢ e ‘1 o PR L m
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# 3@ Cross Addition/Subtraction 541 8 afv ()" frar ¥ @i & step 1%
SUR forar ¥ S Balance w9 @ farg (&) frar 2

TN

T e oy TR
oL -ﬁq';._.;;‘.*' !: 5

T | _
Step 1: Base ¥ R +& 92 Auw A multiply &< <7 3R fora o' |

100 @ fRvme @ ¥ @t 2 3ie form &) afd 33i® 3y al 23
dRT Sid (Digit) B1RTS (Carry) % 37 | 3R g4l o1

aus

25' |

a1

(<! I"'. 13) + 1*
' 2 x (213 + 12) + 1*
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Ex.2: 305 x 298 =7
2 i Ex.: 7153
3 Soln: 715®x7
715
+21
736
7153,:23
43 DI Rule
43
1 %3
129
Ex.: 5203
Soln: 520@:(1
520

+39
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i mﬁozms ¥ed Important Concept:- *
v nculum — Bar
; B Bracket (), (), ] -
O —» Ordero Powers (EITd), Exponents, Indices, Square Roots
L P
D — Division % . ‘l%h :
0 'f
m B
' g Rule @ fRare 9@ ¥
T A |
b

Ex.: 38-(60+

Soln: (I) 16 -8
(1) 60 *
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_— " . S
S gls
0 62 6 - 3:2)4(3)" 1+i820 e

Note. Calculation mind grdl 2

|
| 11 +1;5—-2_-=p

Soln: Integer Sﬁ? ’4 - 571

. ’ 1
| i 2 % 5 @

- 214{10

Ex.1:

(o JIEN]

82
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m=, ' : '-.! d
l 1 RS &

# I-
469+ 1447 14691448 5 vin s
Ex.1: 2(469 144) e
bk (a+b}2 _(a_b)ﬁ .a Algebfaﬁ fﬂmu]-aaq ‘x + 1] l1
. 2ab o

[JET1 n =
l i%= &g Ex.1: (2+ 1) (.
2 : Soln: 1024<2 _

2i=1

Ex.2:(3+ 1) (
Soln: 362
3-1

[VIII] Step
EXIGED
¥ g1

1
Ex.: 75 +2

Soln: Step 1:

freraa ¥

Ex.1: 1111 ....100 times) (3

(a) (111 .... 100 times) (b) 11
(¢) (333 .... 100 times)
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&t

@& n=1,2,4,8,16...]
Ex.1: (2 + 1) @1} 24+ 1) ... (2 + 1) =?

Soln: ,io242 _
2—-—1 Q” Ans

2-1

Ex.2:(3+ 1) (32 + 1) ( 3%+ 1)=
SOIn: 316!2 o 1 332 o 1

Ex.:

. .

Soln: S‘tﬂp 1:§

L
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1
1

Soln: 1+
1+

1,




-
F. - T
: ol : — .
h‘ ; . il "_..' o

ﬁ ey

— ;:1“\":1131

@ st.lﬁm#mww’wmmcountﬁﬁ?am%
ep 1:

bﬁp aﬁnaﬂﬁ s ace foad < gl
2:2:11 ged ml':aTd’l n;ﬁacﬂonwmm T8 @ A g,
X S:fa@ﬂ {1 [I] Differenc
amt ardl numbet@l‘ 3tz |
S FX® Add FT I next spy, afg aier (v
19 Fracti

Gt aumher 31
{ mper 3t €18 ard 8 TN
ﬁl& 7@ continue Y1 |

_ > »nd last @1 Denominat,

Step 5:Last s - umerato
ford® | " Ans 311 SITCT]

Case 1:When Dif

X. L3 16 ) 8 ’ 21

Soln: Difference

NT — 1t

E
Hence |-
F

2 7 18N\l -
Ascendin
(14+4) (54+7

Soln:

OX.Z: Compare |
= 78]
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';
s

afe e
= Dl (erat?r) 3k & (Denominator) 1 difference same 2, al
W (Numerator) T © g8l 39 ) Bfl & vice-ve.rsa

&

Case 1:When Differenc !

Ex.1: —

Ascending order{gg

Ex.2: Compare 516, 0 SB1

576 687) '
: b8 Naor <> '
Soln: 207 894 | é

783

89



[I] Cross Multiply

gl—at =1 (Fras
W | 39 UBR ©
asT BT and vies

2 11 7 6
g2 9” 15" 187 13"
oln: 30 99

1 T

2 11

O
[l
(0)]
gf

198 105
it 0
e 11 7 .
15 iz &
143 90
1 0
gl Num lle 76
15 13

Numerator B

78
Ex.1: Compare —
P e

Soln: 29’8 91

49 )29 |
_Z_‘ag_ v %’%Ana x;gg & 392
Y, oln: 576/@! 52.6 1
a8 699 B699 A
o1 789 BIZ.89
892 1 8.92 T
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ﬁ=r (rucuon)ﬁ emmmm 3tk f4% ‘Number’
YR 2@ W e 92T number YT T S FT Fraction

T &'5‘ *n Ej
vice-versa (fiwa)

4 Ex: o 6 2
3 gt a5’ 11°
Soln: 30 99

TTO
|

Which is the greatest?

2%, 711

9 15

198 105

T 1
il
, 15
143
T
1 i
15

?{ﬂﬁ- a4 APProxlmate Calculate 2

699 nich is the bigger?
& 92’ -
6 ATX approx 58 717 1|
- 774 feran |

0
WapprOX’T
Wsmﬁﬁml

91



| Er acti"" i \
e
ti

> gu® W Cross multip [VI] Approxim

® o & P
"82 »® & 3924@ Step 1: U¥ #
; g | TORE Step 2: 34 ‘D’
= 58 G
F 522 < 550 q P
O UK. g ? 15 , }'8
Ans oln: Multiply 10

} ence @ Greater (3'@) 5 s

9’ 15’

! 4
;{ —_— 2.22, 7.%3,

Lo ad & wEl Number BIC €1 i
e ﬁ! Answer mark i

[Vl % Conversion Rule :
®% IR fraction (ﬁﬁ) DY 3\'_"3

4 1 11 ¢
5 18’ 1o Find Smallegt

22.22%, » 61,
; 11%,

Smallest 4

7
10 Greatest -1-

92

7 obserye B A e solve

& Ereatest fraction?

9

Vote: 84 N wp
[V1I] Numera

FHUY 1 8
and vice=

2 1
Ex.: g 5’ 18
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5

o1 AR A T W A 0@ 2 & de. 109 T B
p2: I D' +HEAT ATHIA & wrert SN anlueﬁ Answer mark

' lfﬁmmm%l
3

7 46
A —, —, — . Fi tion?
Ex.: 9 @& 13’ 11 Find smallest & greatest fraction
Soln: Multiply“10 i !
b 30

9l 15 - 18
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j 282 373
; Ex.: Compare 273 and 236 i
i Soln: (i) 282 <413 ;
@ (i) 373 3l 282 @1 diff. = 91 u
} 486 aiR 413 BT diff. = 73 ;
g1 > 73 B -
O& 373 :
Wae 8
2. .
(i) N<D
(ﬁi] X<y
@ B GFract parifon i a -
N
3. ufe -
ﬂ’ N>D ‘
("i" N, D, md
(iﬁ' X<y

57
Ex.: C AR
E OEIRSES 305 @
i Soln: Condition (i) 579 » 392 6

| ; dlff = 83 O
s O
| 5 <
' 392 =
\_/ O
diff, = o1

N ;/“

579 _ 662
T 303 > a3 Ans
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N-l-g

| N o Bex

‘?“ (i) N>D

i) x >y
& a%? possibilities 91 WTdl 2 |
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[II] Pure Re

fra-ft gw
Bar 31uim

Ex.:1 0.7

Ex.:2 0.

/\ Ex.:3 2.
rrational

! s WA 19
tional S _
Rgrf’\’%ﬂ) . ¢ ) 81 8 98

1 Decimal (All RationﬁlLL

—__ [111] Mixed

y — w 7 ¢ Iﬁ[("“ ¥
L g PR SN L .abcd aitv <o
x.abéd Tra. ! C x'md _all - o - ke — BCTHY
) N SR R Mixed
® Ten__ﬁm:ltm;_g : @ Recurring
Decimal o it Ex.1: 0
r.'i ‘ ‘ APy (-3 ¢

Accurate Value j 4 m'._'a»‘;_- ,_.,ApproxValue Ex.2: 0

(i w) (ST TN (7T AT)
Denonﬁnﬁ"_}tor ( . - ﬁeﬁomina'tdm;f Denominator (gq} Ex.3: 0

Pt 2° 3R, 5P B Formial |1 1 P oy 5P B @S, o aflv 5P awi
& SR A ) YA 2.) ™ § "
;' AR LR _' Vel @Eﬁ m;&.;,.ﬂ_‘ ;; ."‘ =] Qﬁ» Numberﬁ Ex-4- [

Ex.: E,E,E ““'i, 129 77 -3
S, 5’ 7 ete T st [1v] fpat |

i 8
W (Number) & 13 crmg o T SR Right side @ B 1 s
WG | SUR aTeh (Decimal) gy ‘
YT 18911 Decima) el ST &) o’
Ex.1: 27.3:%763_ STy | - 7l
Ex.:2 698.768 = 998768 > oy
1000 : v B

SR

Mohit Goval §
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{

forasft = (No.) U Bar 3@ Sax 9 A for@d syt atk forw wemm w

Bar 3T 98 SR forel) sty
a1 0777 o, =0.?=%
nx.:zb,z'rz'/ ...... —097 = 27
o 2326
: ) s BERRAE
Exnta '. ssssnan =2,328 =W ggg

s 9 1Y SO A A TS W AR o weEr frady EH § O 0 Bar
T ® 9% Ue § '

. | O

Ex.l:—s- : | I.
Bebere 87, 37 @#B Answer O :
N

2 Place e Decimal . --de m
y Place ygel Decimal NG| Ws’: 43 . e
- ﬁa‘—ﬁ P?weg T"ap?ai q; a9med (Decimal) 3TC, & mﬂ:ﬁﬁ‘ﬁg
RRE i opeor ; 3 place ugal Decimal %f o €l Anewer®, Caleula
: Wa:l;;on g@usemmwgl
SR Exam
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e, 27
Ex.1:i

37
Soln: ;3

3Td De
|

1037
Ex.Z: 2 % 52

Soln: g8l 5!

1C

:>23

[V] Bar (
Ex.1:2.27 +
(a) 5.5

Soln: Meth
Step 1: ford

Step 2: Que

» LL%9°¢

Method-2:
Step 1: 3 [

. 3 » ] ﬁ
Highest Power = 3 3 Place Teay Decimal A

Highest Power iﬁ mﬂ N .ag.', OO%
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37

Ex.1: 8

37

@Gﬁ
! 3@ Decimal 91 & ferg 52 Tt 81t | RTRIRY 22 3iR 52 zero aTTHY Decimal &

ha: 28 X
Soln: T&f 5! 2° Max & 3R 5% 8, gAY 5' ¥ multiply 3R Divide T
599 Deci

orm 9 WU |

e g =

Step 1: It
Step 2: Questig
{ No. IX

Method-2: T4 @1 Method - & 5

S ﬂ%’f 2 9d4 No. Ugd
3 Step 1: 3 C?lu:n% Repel:tﬁm t-!‘\'; Next to next Column # fora &7 |

&R Column ¥ L.C.M arehl @& a& No. fadd ) O'%

1 4% Bar & X 327 ¥ 29¢ Bar ® |

Step 2:
Step 3: AEl 2.27 4

o o | SR Add DY@ Ay TR (Carey)
Step 4: IR Column 2";_\' @ 3 fY 3rd Column &1 ’Gﬂ‘“‘maﬂl

e '317'“ ﬁ forward
o=
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Method-3: Appra

227774
3.272 ‘
5.5504

IMA

#  5.5504 ¥4
- Y T G T
Ex.2: 224 + 11,567 +

(a) 0.32
Soln: Method 1: (1),

@  Answer ¥ ‘:I"\'Bara"ﬂﬁﬁoptmn AR B
#  Given No. ¥ 1 No. 9y aX"‘Bar?[ﬁf ma; by é
- An 3
& s«smwerﬁ%iﬂfm RIS Bopitn 14 & o
solve MR
| g ' ﬁ'ﬂ{opucm (b) Ans T =y | option ‘@’
¥ | 2244 4|4 . a IEs
+11.5 16 "7k 7
-335(9 9lg g
T '

ST dla o
SRR
-

0.412)

100

(B)

O

(1)!

(2)

(3)

1:Equa
) k

Soln: @)



@A) ¢

( \
Intersesting 6r' Concurrent Lines)

Ii] #‘eﬂr Equation in Two Variables (a1 ==t % 3Rga aHrHD):-

'stent System (W7d Ugfd): Atleast one solution (P9 ¥ & Ud &)

inﬁnite Solution
_(ar#as wd)

Ly; 1
_15.¢_—1:> k# 6X'2'¢3

A11 of above Answer
: _5y=9an

o T 6x —

Ex.1:Equation kx -y =
(a) k=4 byl 2 T
o 2%
» a2 o

d 8x — 20y = 36 have solution?

(b) Only one solution
(d) Infinite solution

101

= 3 have unique solution.

(d) All of above O /

-ﬁgm




[1in] Cr
a
ap
a,
(1) x
i ( wer.
:&%* SL . Infinite solution optton-_(d).. Ans
» C hE
r ®
| 9
;
x
v o
: j
I (2) vy
x @ forg x areh termm‘rlgno —
(3) 1

o For y 2x+ 4y =10
CLETRREL Ve,
Xhe2ug TR m

Ans o il R
A yﬁmymt°m“'immw| PR~ b L 7

Vviohit Goval SIr e _ b,
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?ﬂgx*h,Y“‘C,z"da
-+’bsy+cﬁz-_ds

‘s bs ca‘ AT
iz ® :frs‘é’lmvalueﬁﬁﬁﬁm ya‘;ﬁ'{qdﬂdﬂ,d‘ﬂwﬁm
Ty maardoolumn#mm@| i

frdl 2 eqn. W YWAR y 3R z B solve T | b
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Ex. If2x+3y- ?53-13’ vl L (o]é‘r'
xy+yz+rx 9 s
(a) 32 (b) 5 )

Soln: 2x + 3y - 52= 18 )
3x+2y+z-29 “.(3)

'} l x+y+32-17

i 1-17%
183X 2-1%9) 39500 x3-17x1)+ (-5)29%
> T 2@ x2fhxleal # dakadld-O)
18(5)+3(70 '
= 26 3] -5l :
-9 ol
o 8 = ) IS
1 -19 Ans
| Now putx = 5 in eqn 2
' 3(5)
+y+ -.i
” ‘“MI)HIT
Y+3 2 x{2)
/52 m N LT
Put z = 2 in any equation
| y=6 .
| ATQ, _L
Xy +yz +zx
-5K6+6x2+2x5
= [52] Ans b

104

=) Su
s, Pr
Py
|a

> I
> 1
|

x

b. 4

[II] dla
3. i
2. ax?
ax?
Cor

EX.
6 aR



V 4

;‘ ﬁ“’" Properties:-

w{—h e ——— 1
5 iy :

Bap‘ic equation ax" + bx™' + bx™2 + ,..... +k=0
1t x"! BT coefficient
Sum &50&' Sl X" @I coefficient

/. Constantterm .
Product of Mgip; F .

 Exuxt-5x+4=0

+a-0% T (Roots) - L

ax?+bx+c= =0® o,pB. at cx? +
xd+bx+c=0% o p Tex'- bx+a$=1@1(noots)-am_
Complex Roots e Gﬁj_ (Pairs) ¥ &ld ® |
e $w"l"mmmﬂ(8ﬂmoﬁtlm-eﬂident]
ﬁﬂg unatiox%ﬁ e
‘o’ ﬂm sad%

1 - 5+4=0
_-b#yb*-duc
ma—c’o. 2

Weacept
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[V] CubicEqu

ax’® + bx’ + «

afe a,BGﬂ"
5 udl Al a
% . —_

afx o}ﬁnaginary (reafie) : |
O e 3 ot (et s o wRHT Gationdl S
onnl)l“. .. AT I : Equation

Al

Soln: (1) g4 Qu
Number

Ex.2: 3%? - 4x— 32 = 0 ¥ (Roots) &I &7

Soln: (1) 3x’ —@—3 -0
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aﬂfu.ﬂaﬂvwm(mm)m

m!mafmuh(&mornum.)-q+g+,,_-3

@]ﬁf DT U (Product of all roots) ofiy = ok i

nal) gy,

ola | W?ﬁ‘T(Sumofproductoftworoots]=u|3+|37+7a=§

TIx*+(ap + By + vajx + afy = 0]

’ Eqeskion

actor) !1]
i = :
G (Co-i. i &Y x .., ; £ T .:' S 154 m
a f5d 57 !

Ex.1: x° + 7x*

Boln: x:! + 7x2 A

|

atpry=4+2+1

Ex‘z.%s_4xe+-5xﬁ2 =0d g (‘Rootslw'g? : O :

Boln: »® _ 4x? +5x-2=0

aﬁy:*gs"l"—l
o+ +-Y=-2,"'1’-1

e
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Ex.1: {30 + \E\E

soln: (+) Type 30

Large num

-— _‘__’-'"'"'-’-—‘— .
X+ x+m— 2 i
soln: (-) Type 3

Ex.3: m

Soln: Method

A

2
-2

Methot

X+

m vl

J7+
mir
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i __gems Related Que.;ﬂon, i

I
: ﬁ- \(3-0+ N30+/30+v30 +....c0 =?

Type 30 =6x5 (I Number # 1)

wﬁm@@m=6 Answer

(Positive series # larger
number Answer 81T 2 |)

. J30— V3 F R T (Negative series # smaller no.
; ; Answer 81T 2 )
Soln: (-) Type 30 = 6%

Soln: Method I:

Jax +1 i
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Soln: [2492//24 + 2J24 5 =
= T N ﬁrﬁ%
@ 24 =L x
24 = @*
1 @ e
BT § And

SRR
U &3

Ex.8: (180 - 3180 - 3y180,

m=?

Difference = 15 -3 o 3 ™ la"l# L

Soln: 180 & 2 factor =158k p T &
R ol

10

a8

Soln: [

-d._,';ﬁ%lg’

—

Ex.10: \

~
Soln: —




f38 +1745 =2
(@) 3++5
Soln: 3 question cub
494 gAY 3a’b

- Weknow (@a+b)P= \_l/

& @ No. fretT 787 | Root AT

(b) 245 (c) 3+-_.‘:.:--"-'r.{- - @25+45

e based 2 &

m

b O% 4




som-.ﬁ ATA (a +

6+J1—§—\JF

22
= -2 i@

— Option
8 8n

=» Answe

— qreit
o - af

Optic

O 27.5 T | Ex.2: 1+201

(a) 2020

Ans s v/ eck T Gl need 7§

Soln: = @ '
= A
i

yj —1 Las

— R 2

Y26 +15%1.7 + 326 1.7
= ¥26+255 + ¥26-255
4 {
3AR4BET 19y
3B+ 1

B T gfer ’%1
l : mswem; w ﬁ &Y OPtFQ Smé

12
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Soln: ¥ HATH (a + b + ¢)* W based 2 |

J6+12 V25— 78

Vol
# -242x3 - 22x1

'ﬁﬁ‘ﬁsﬁiopnonﬁcheckﬁm
= Option (b) % number T square T R 11317 <&l & 4 ¥ 6 | TR A Ans

= Answer sign ¥ fenm wifs option elimination $ ¥ & gAY daal

b qrefl t stion T‘-T m "gl : ]
Ex.2: ;{12&2@19 2

- 3! gHR ozlgwl b B 3
: next d 2 e 5) O

-:} Finally 2020 ur< g3l il Answer§3ﬂ A T : ‘ : |
Option (a)2020 Answer s, 0 i

wfr Bmcketsa‘»‘ No. #1 Sum equ

1.8 Ly
e~ S

. ?;_i—) (), 5 (FNB), (e
Ex.1: x = (33 +

B i orier w4 H)
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,,&-lm“”. ﬁ —

l'd. a i@q‘ﬂ"ﬁ @l
e 2 e T R Produc ”
S g per & "\ g a1

a8 nu
o fr®! Product

umber B g | 15% 29" 435

=33x11=363 Y25 o 43
Z=41X3-123: t’21 .

o JZ{{+J§ smallest

Ex.: x=(V18+10), y=(V36+5
2= (V20445 t= (/55 + ), Write i e s

Soln: @ UET |H! &7 Product same -
@ R Sum ST By 4y

x=18+ 10=128
z=20+9 =129

y=36+5=41

t=4544 L
. =49 e
t J4_5+\/Z la'rgeat y Ex.2: QaSt

x= Jﬁ-i-\fi-ﬁ'mllleat
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)

e ——
e o L aE s b Sy
el B T oy

o FgEl Pm% Q@A ¥ A1 A T Number $T Product/Sum same @l |
@ 3f% Product at Number &1 Sum B |

o )] -

Ex: [(V6-+10)-(v21 88)] « [(V6 +10)+

so: (45 0)

s :

gr?
Ex.1: Qf_S_ G2l rationalising factor &1
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98789 - 34512
step (1): 7~ 2-
step (2): 3- 1
step (3): 7 -
Step (4): 5~
step (5): 9~

w Y

x.1: 73219 - 8399
oln: Step 1: 9-9
Step2:1-9

Step 3: 2+



=

LINE METHOD_ ~~~.
(e fafe)

m i€ Method Integm ﬁ‘z_
39 meth

/81 Unit Digit B! Unit Digit § a7 10* Digit &1 10% digit 9
Addition or t on H¥d 2 andsoon....

98789 - 42173 = 22104

512 -
Step (1): 9 —%4 Il
s ——
Step (2): 8- 1- @"‘"“

Step (3): 7-5
Step (4): 8

. Ex.1: 73219 - 8399 +
. Soln: Step 1: 9-9 +
Step2:1-9+

Step 3: 2 3+“ﬂ =

. =3(10-7)
Step4:3-8+3 —

= (10'621Wnext'\ﬁ) | OO
Step5:7-1-6
N\ gy i fordt o
Answer

¢ digit & Minus ®X 29 ¥ O 10 SYR fordm df Minus

e 00 JUR ar Mi sQiﬁqaglﬂﬁ{cmﬁﬂlgﬁlﬁﬁNﬁt
il &9 SUR © foram d Minu
1 & 8 3R

Digit ¥ Addiﬁ?aﬁ%'

n7

-



B "o ARG S Dii“ pe
k 70,006+ 43FHEEE <
7 g m 10 Seconds

Ex.1: 0.4 + 0.44"

4
(a} -5 Kgﬂ -

() 81&‘91

Soln: 0.4+ 0.4

n=1

@ afd optic

Option

4\,
talgi'
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i

'_u

SN n = 1 @7 UR T9®T sum 0.4 8T @8 Answer B1T |

154 (d]matchaé‘r?ﬁ?ﬁ%ﬁm% option (b) ¥ n = 1 @A WX [0.4] Tt &
(@), ()

a1 & gafag option (

b) Answer 2l
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yalue 9GT DX cheqy, [1] Commy

P 2 Ex.1: ;T 5].
LS ot =5
nng)) (n+2) 5%
(@ -&”‘5 &
() nn + 1) (A -
Soln: (1] + (2 + 34 1
Putn = 1
Check options _ Ex.2: 15 3
e n=13dn Option Match! 1
. @ £ | oln: 35
@ B (D
& Ad n=
. 2 g1
sum= (1 |
l[i
Option (a) y 2L
Note: Exai

2

o 20N 7L i

(C}2x3x5=30x Ak

p TR oiq 1
@ 22:0@x24y Biae | O

T lsx OF -

@  Only option (b) = 10 sat; - 3

on (b) = 10 satisfies thay' s b & é
- Plion (b) is Answer. O
1 7l :/

Ne=F
3 ‘}w
L Rr
x !-',

viohit Goyal Sir =
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= &X (Den 1) BT IR Difference) HU% 3% (Numerator) ¥ 2, @l

. g1 ﬂ ‘gﬂﬁ Solve"ﬁﬁ‘
: T

| qﬁqa. AT qjaﬂ- =

| L
' 1
% _
1 15y - i

- Ex.2: -ig+ﬁ . . _ 2

Soln: 3x5 5 z -~ ; [

- : 1,7l &R Difference i

Eﬁ

11x13 ;
7l TR | 99 AR (Dif ferent PN
H

ﬁ _Eﬁ 30 ve

ECiE Gl (Denominatorl § @9 Number 2l

1 ) [ e 1 ]
n(n+ :’, (n +b) - #[ntn +a) (n+a)(n+Db)

1 I n Ix
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-t @ enl | . -
e
i mmfh;:n g'\' (Denommator} e 135 357 5

(Numerator]

{ \f!ltﬂlﬂ"iﬂ T +Jﬂmqﬁﬁm

'J—+J_ 3+22@ o

1. =13+3_§+5.7+7.9*

s+ 0 terms _

A —-(4n +5n_1, Al R
2. 8 =3+7+13+21+31 “ n“h]_.._'.: A jc
a -n3+||,+1 + N ms L
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Sum of factors (m@ o ‘qTq') mﬁ -. %
art-1 b%.1 gty 2.

*  r—

a-1 b-1 c-1

Mohit ¢
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E,

X @+)E+1=3x4=12
2 9 3+1)=4
ol 1"! i o
E = (3'+® 2=8

Soln: Step 1:
Step 2:11
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El.l:Wh:ch' Smallest? 3, X B
g ) 9 : gHasToo Perfect

est) and vicey
5T (Largest) o AT

Soln: @l powerd K & £
(i) Optiomy(d)H ¥ sidi-power & | GEHIIS ORI (d) smallest® gx.: 13,28
13 @1 1
Ex.2: Whi
ich is | . . foere
(a) 33337 ') 3 ——
Soln: Rred p T
f' gest) and Vice®
| t gl | Odd n
Option (a) Gl 3 1o D
2 gt &
S R
S @

Ex.3: Which is Smallest?

(@) 2347 - . \
c) 234567
@ 28~ s

Soln: Opti
phan # BI& power & 5*”3&' option ) |
ption (b] e aliost \ )
g | -\)
,f ¥*

Option ] pn

A

aE |

=)
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-versé

N1 (Unit Digit):. ’
2:3:7,8@Digitﬂ5‘ﬁﬂﬁﬁm'§| |
3Pl B AT (%gsump.-

Perfect Square qﬁé‘ A7 9 BT 2. DS 1, 4,7,9 89 $I qdeld T8

SR TR R 5 nu rfect Square & | 4 4 W%} a1l Tbel
.. GI% g foraer
1,4,7,9 981 2.8 &9 Perfect f it

13, 28 -
13 @I DS + < i s

8 B Divisibili _;

N >

— |Renia

3
£
.
%Q ,

3T BT 37 (Unit Digi &é
d
g9 0dd (™) 8rm

Mﬂwﬁ R s G O
| 39 Method ¥ g4 ®dd Perfect e 8] & ® IR

?:me::}:rtw Tﬂ 3 ot TE o 9 follow X a8 quf aif &)
uare T8 @ |

68% > 4624 TN 124 Perfect 4
IWIEd R ;W &4 Tlff a1 (Perfect Square) ® S H THA 2 |
u

afe Ryt dverr A (4th Rule) follow @Y @1 ¥ A & gy awifs wft Rules BT
gl

follow @RAT must
i Cb o
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e

g

n-: 81 7 81 £ ‘_‘-; d Opti
21, o3 "
Soln: Factors = L 3'?’ OR ]

-

[III] Pe
2. 1If|
5 Perfect SQW¥ D  If|
Ex.4: 256 Perfect Squ =} If
Soln: (1) Unit Digit 6 & | _ & >
()DS 5256 -3 2 + 5 + gy RS _ é Note: i
(3) 8 # Divisibility g7y o :
256 e )

S, ) ™

(4) 10™ Digit Rﬁ@
@  Hfd Unit Digit 6 ;
S SWE W Ry
Square}%l

| S | i ——e
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—————— Ma
BB Which is Perfoct Square? ths Hack Book =)

b, 196393

/ (@) : (b) 889235 (c) 996366 (d) 106276

- - ﬁ“"n (&) Perfect Square 1 ¥ wifs Unit Digit (g8 sim) 3 2|
ptiOC (b) Perfect Square 78 @ Fif 10% Digit (egTé 3m) 32 |

Optio §fect Square 78 € Fifd DS 32|
Option ( ct Square BT |

1f(11]=—

(R0 o5 01000 %

If (21)* = 441, (20 1)2 = 40401, (2001)* = 400400
If (31)* = 961, (301)3:= 90601, (3001)? = 9006¢ &
If (12)2 = 144, (102)* = 10404, (1002)* = 1004004 |

faperm 1 121 31T A€ 59 & 11 D

4 11 @I Square
. ?jem (?;1] fip Squa:e fopam @ Ugel number SR é’]ﬁ Tl nmm:er$ O
H‘r‘?ﬁrﬁqa'r—-qaazemm mﬁflo:zma‘rvan ‘
A 1001 @1 squareﬁ;muﬁua?ﬂaﬁ‘\’mm W(Nmber,@qw
) zero

02001). e
& Wy Q-4 2ero o TI'Q (10 ) 27

=<t TR & s &g ™ umbers @ Square H g3 ¥
°

e ?

0O 0O 00 —

129




i

“a ——

™ (x0y)

Ex.1: (9999)*=? : y=19¢
éoln .Step 1. 9 & 3@ foret Step 1:
78l N = -4% _ Step 2:

) fori Step 3:

O ep 2. 9@ @ (Square) . 1: (301) =

=a 92 = 81 o spa.ce"‘ﬁ’—‘r a3 (Separate) forg ,

4-1=3
& iy 3 '''' A Soln: Step 2 (

Blank spal 'Iif : Y
Step 3. 379 Bl Sace B AT | g
83 +1 P ot alel Blank H X de 13 1@, P ST AT Blanki: i

' ) Ex.2: (408)? =

) |

sn
kA

b Soln: Step 2
2

olEfl"‘y,-V‘

Ex.2: (6666)’ = ?
nlnllﬁﬂffs l|___-

Ex.3: (902)*:

N 1 4%
Mﬂlll'l Iil] k.
44435% 5 ¢ Step
3+1= i w' | \‘E‘ 5| !-'-";"h‘ ¢ @
oL o,
Ex.3: (3333)2=? g
Soln: 32 = 09 Nl -

e 3Bl
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- 9 . “c'ﬂ
Step'1: y* &7 31X right side fordt |
T 2R AN left side Fr@T |

Step x 2 HXD Right & Left side & &g & fr@ |
Ex.1: (301)*

1)

4

Soln: Step 2 (3)° l pl

09 |3x1x2

g b g6 FO

Nar2>lad
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Prime Nu
2
tural number can only end in 1,4 5, & 9, or even nuy, 41, 4
A na
zeroes, i.e. (00, , 0 - : . _
ot A S G A Bt Twm, 8, 9 T T W
(sfiY) & |
Ten's digit of ev is ending in 6in
case ten's digit w
TS @I 3 f wiafed afe i )
3fd 8 U Y |
0
Ex: @9 [l 100%1
A Step 1: 1
®4 1@ 0@ s RiCR:|
3 IEEIE
s y S Step 2: fhY P
gH ﬁ y step 3: 51
A number will not . A, numb
epe ect square if its ol U ’ ot1 4,74 2 ar

(Reverse may or may

10t be true)

o1 ff wer qof aif 7 & ,u Ex.1:1s 91 pri
Seel Bu U M 8 HoHar 3 S ““W 47zn ét@soln ((;Z?x
=) DS
=31+ =] Lg ﬂ : ki
- Dol © 5
To At g 6-+6= =36 > 9
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» 11, 13, 17, 19, 23, 29
» 31, 37, 4
59 61, 67 71 73 79, 83, 89, 97 i,
3y j
b 0 ;-
'. E ‘
l i
d
B
n that ; |
fet | E 7
e E
r
Step 3: 39 P~
or? ;
| Ex.1: Is 91 prime or n ' i
(399 Soln: (1) 91 ¥ BIel Perfect square 81 —7(9) § !
3,5

(2) 9 ¥ BIC Prime no. -2,
o1 o1 o1 [01 O
@3 3 s [z C

@J%?g LB T E gufery 91 prime number &l & |

<2

Ex.2:Is 211 prime or not?
Soln: (1) 196 = (14)°

@2, 3,5,7, 11, 13
211 211 211 27
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e Number T |
[T Except 2|

rime no. 87|

2) g °

Ex.1: 227

Soln: 6) 227 (3
18
47

Twin Prime (Prim
e No,)2
P! multiplication )
Ex.2: 169
169 — (13)?
169
6 = R == 13

P9 169 Prime no. & §
Note: ¥ technique option I

Mohit Goyal Sir
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ps Add 3@ g
(@) 12— 14
(b) 121 >1

DS Remainder

12
‘a] 9 —
: 24
S Digital Sum I ® 9 —
A— A 121
© Digital Sum @9 ¢l (c) g ~—
> qar Digital Su LN Ill;?;-_ :
E e [II] Basick

2 Digital Smﬁ@ﬁ; | - 1. Digitals
> Digital Smm aﬁq-ﬁ; Chapterd GM? o% wf

9 Digital Sum s T

© Digital Sumé* juare Roo!

o

method”’ﬁ [ il - o

o ufe option sameﬁ?ﬁ W R '&.JE J:’l . C’/
2 Indirect DS 'q'zﬂ W 272 "l'

© Digital Sum unitar

3anq$sﬂﬂﬁwﬂ§i\‘$ws“ \ il QL 4

Ch el fid
Y Chapter &1 3 3 ‘\“ITI'& 3 o

L JITETT BY 27 | ST9) Calculation ®1 9gd

" Ve - 3 , s

1] Digital Sum Concept:. A A @

What is Digital Sum? ' !n. 12

'S

A single digit obtaineq @’

b .

digital sum. Digijt y adding J ol

d“’ldinz the nu:fb:: _Sy!gn un:]::eihf. ‘?flts of a numhirt:;ﬂd Note: lE[:iﬁ!;

e remainder © =

RICES
waﬁmwtﬁgﬁmmjmqummgﬁpj CMiohit Goyal §

viohit Goyal Sir :_:_:-:—._ _‘_____:1_;,: Remaindera% G_\q DS &
| —_—

[
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[  Digital Sum >3
un ———— |
pS Add &¥& f¥arer:-
a) 12—1+2— 3 %
by 121—>1+2+1— 34 : :__
R
. 356_‘?_'4.ﬁ_"‘_6__>14-———)1+4.._)5 ,.',-"-E'-
2 24 4——-_)6 T‘}_
_1_4+ 5

m m-r 2 TgT‘TI aatie heifeih o T L ’
noedpilnd -9~ ' ‘ : ’

Wafs - >

Wil aciler ol

s i
B as 04—+ s
.\|1' 'y
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—= Maths —_—
1128 a 3. Decimal
Ex 2. 9‘@1’613 ; #1 DS 9 Al number.

9 a7 T AT Answer TUTAT

98107 f6 Answer ¥
Ex 3. 1.67x18x0.7545™ gar a1 Tl gabg‘ Reason:
L g ! 100% will not change ¢,
% s oS be‘ D ﬂ: to cancel out 9. et B 8 4
2., When we add9 to ;n sum We vy AT T agay )
order to ¢ culfl et ) ar gaal CEap ¥ 73% = ]
&w fed W d 9 WIS =¥ 9 @ Pl BT
% @ o e @ e 7

R

Note: Addition
1+9=1
4+9=4
7+9=7

(c) 45215-——97_,djgimm
. (d 59991—-+5_,d1mmmm

(€) 521399 — 6 - digtg gy

@) 9B — 9 dighal gy
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¢ 50614
soln:
\ L o= : ﬁ vrr
@ mfmﬁw.l T,
o s T B
};‘;:r?:ﬁzm mvmwa‘\?“;‘_’“* il ‘L?fqml
1 045
‘l-l: v’( -?

(a) (b) 723 (c) 733 (d) 752
300045 /3 o
iLS Ex.4: T
bl (a) 8
o Soln: Divi
| §
o
Note: Wot

sa—

R 79 1 52 ) o

506142
927

(a) 556 Ly

=P
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E=——————= Digita 5,
T Sum - —

soln: 907 =>dlvldeby9('ﬂ'\'ffﬁs=ﬁﬁnsgtl)

506142
9 56238
R e e 6
% 927 T 4

4xQ = 28 ~l6] Ans(n)
V
)\ 10=1
258762
Ex.4: ——— 0
(a) 804 P
Soln: Divide by 3 (
= 1018
Note: World
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_mm 5 gook === p—

L LN ————

Ex. 1: _.---—--'l‘mIs tﬂ'ﬂs‘#ﬂﬁ"! | Ex.2: Net incr

g 10%, 21

163 1371 110 1

alt - 100
o q’g‘[ﬁ'lm AHSWQTA&:

o #2rqd .
c}u}qlnmmﬁaﬂ’in enominator ept-a;\[1)ec1rnalChatptt=,~rf’lt{31le 6-1=3

4te et DS 100% a7 | & Cone

%|

[v] DS&

o Prime N

M " _ y o fm‘ﬁﬁ_‘qﬁﬁ_mi 2. Perfect
% 91X 2 optiont = _ ¥ Perfect
it M Goffspt 1 9 Caloulablbn method use gy 3. Ferfec
€4 Last ' % Wy 4. 3413
Ex: (a) 123 -6 A N
(b) 3012
(c) 1478 " N Tedlta
(d) 23 : If
A o %‘ !
Then
2.
dl Ans
Ex.: 12
1(
3. B ﬂfﬁl (a) 85(
"
Ex: (a) 1453 : Soln:
4. { SI'TE DS &1 Indirec T (d) 4351 O
Y14 Principal (P) 4¥ (] 9B 3} ﬁ’[
HE@R CI &1 DS Wt fgprey “%“Amouutwﬁ DS pnnmpal(l” O
. 1: CL om R 4000 fo 4 year @ yogr
a (]
Soln: P = 4000, R = 109 [b] 1900 (c) 1856
o (d) 1756.6
il - 4 _1_1 ]
; A 000[10] /
Amount « A =} '
Principal - 4 - "
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' Ex.2: Net increment ¥ m
10%, 20%, 30%"’716
110 120 130

| @100 100 * 100 7)5
6-
v ‘P v 5Ans$rnsz’m 7L6T DS 5# 3,
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I"‘ :

- - d) 138,
L. 637.08-781.47+257.39 3? (o) 122:44 (d) 138.54 ]
(a) 113.2 (b) 104? 15.
2. 44%of 125+ 75%0f 840~ (c) 685 (d) 765
| (@600 (b) 666 .
16.
8.~ 58 x 96 x 62 = 7 1 345216 (d) 345236
0@345246 (b) 345226 Loty
= s =(b?; i 9636455  (d) 90632365  17-
(a) 90636435 DS _
5. 5025 22 =2x11
(a) 572240@ ’ 4 (c) 366520 l[fll) 454127 i
6. Rita buys 5 s a S N §h¢ buys thre,
sarees at erage of all they
she buys : ik : -
I 5% &3 f gz saiv e 1%
@23325 12450 (d)2500 '
7. (31% of 260) x L = . -
(2) 150
8.  53%of 120+
() 92.5 =
300045
9' 415 |
(a) 713 ok !
3695272 _ _ ) 733 @ 23,
644 O
(@) 5728 (b) 5738 AsML L, O
45 @) 5749
—3—22 =? R R (b) 5746 ,{~
(a) 141,55 (b) 141 05 :: 7“1f.¢’}1 : @.
15% 1786 +19 =9 (9) 140 o«
(a) 188 (;;] 11134 Jlﬂ’m‘ﬂs (d) 141.75 g
4
8(3.75)" +1 3 as.
(7.5F -6.5 =7 (d) 176

(a) 2.75
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ATty o MM' (d) 1311

R (SETTRN (-

LR ru 1 :‘ Y
LR £ T, z e 1,?}‘ N §
(b) o ('e] 134 (d) 133
s (o e (g) L035  (@)1.225

a perfect square?
; Be :

“? 56 (o) 767376
=Gt square?
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__ Hack Book
M‘m ‘23' e is Rs 80,000. B anq 0 hav
ver: e A have their
26. A and B have theif annual & 000. ¢ and Annyy " [ —
annual average lggor‘;;at N th'rf’ uﬁl mcMeof A? 4] a‘! :W
8,000. w
income is Rs 7 k ﬁqﬁgamaaﬂqcifﬁmmﬁas oo
Amsaﬂaﬁwmﬁﬁ-mso,ooo e g o AT LY
e o 78,000 A D! A gy (a) 35
w7 ik A sl ¢ @ 3T b e B
ks . sur
J’ (@) 81,000 (b) 82,000 e g o A
2'0" ueofx5—8x3+16x2-7x+1atx=9? share
28. p=#f0Gr = 18% perantum, {=2yr,A=? (Compound Interest.) ;*;—jﬁ
' (
(@) 676& (b) 6862 ) 6962 (d) 7062 (a) 1
29. ClonRs4 5@ 10% per annuim is ne Wb
b (a) 1856.4 (c) 1856 W, () 1756.6 ticke
v mﬂ;ﬁmd o0ds a e at su i CMt of 25% an; il
' afe |
TP G D) Y
L 5% 3R 10% R hali
i %) §
a) 236
| 1 (@) 242.25 g
31. Asellsonartic | 36. iztgv:
it off at lo; of 75%. Cdip "
btained b : 6,5
poiainge BN s Rs 3200. Then! AD
A U% IR 4
1
?ma_:fﬁ“ g A TACAR f’s
BT 1% g3 2 i Call s
(a) 2800 (b) 2580 in tl
Rs 60,500 is di idec - )
;}EhB a:r1d (i tog::;ht::. 3;?33 A, B'ang et A, E
at is the share of € (in poa cS /7 B Bxeceives 2 (98¢ w
60,500 wu3 e °f as much as A and C1¥ R
ﬁ A' B w AT F gk ¥ 0
C & T W @ CH T yopry g () 2
P AT (B9 #H) Ry BB W[ A o 85 A @ s6
(a) 29,850 i ¥ PR S
(b) 30,120 bdiSs =
The ratio of four b e : )8
sum of B Umber,
of B and C ig 25 (d) 37,250 | .
' (@) 2

+ D)? |
5 velf
. 38, 11 respecﬂ"i{i

_ What is the val
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(c) 250 d
34{2?nm of Rs x is divided am (d) 325
and Bis 7 : 12 and tha?:nff?a B and C such that the ratio of shares

37.

' 2 4R B

AIRY @1 U 7 12 21T O
e . -q'[:{ 'EfZ]T

IRRY H AR (b) T (0) 15,321 (d) 17,231 p é

i be divided between A and B in the ratio 4 : 7. The difler

800 is to LC S50 : _ .
- E:@ién their share (i? R;:z 7D mﬁmmm%tww
L e, dRBD '
63,800 T DI A y
R (T ) # @ (d) 17,400

glta|8um

WWABCaﬁ-\r —_——

Aaﬁvbakmﬁzsbmm I 9 3:7:8: 11 %1 B ok C o1 4
Bl (A+D}qu1:1 L

(a) 350 (b) 375 e

and C is 8 : 5. If the difference in the
_ﬁ n the value of x is:
A, B@NC%%E\‘TWWWW?%

Waﬁ"ﬂﬂ? 128 ARBIRCH 8:5 2 3R a
aﬂ'\rc$ T AR 214 T 2, T9 x b1 AT

(a) 11,770 @11,128 (c) 11,342 (d) 11,556

Df.' by mcreasing‘ e pri cet i ratio 8 : 11 the number of
tickets sold fall in't tio 23 : 21 then is the increase (in Rs) in
revenue if reve efore increase in price of ﬁc,ket was Rs 36,8007

soanndC.ls Rs 214, the
x7‘5

(4]
g
(1]
B
(@)
(4
—

: 4 -_'_;-‘= 0 ratio of the
12 and that of B and Cis8:5.If difference E.
219, then the val ':-f of x is:

. = feT P o & fb A
S SRY o o 815 81 AR A

A Sum of Rs.
shares of A a1
in the shares 0

%Baﬂzcﬁﬁ"x
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39, Rahul's salary is 40% (00 s sl 3 B R
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of Rakesh? e 40% 2l W:]'ng: &7 ? 800&'5 S 3
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2| ufy dus BT © Rs 28000 0 n
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41.

42.

45.
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49LPopu1ation of a town iﬂ""ease:hﬁ S meeent population; ! 47. Thei

[ Mohit Goyal Sir

8
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6
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e ATaET T &7 w9 ¥
Eulsaical EEE000 (d) 165000 —

00 C) a9k
(@ 1500@ (b) 1ES3 R82,16,128. Her tota;
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188160

b el i Ffe 98 2,16,128 7 .
w1 &, 7 gl ) s N Fe
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by 20% 3 49. What
Sb.: H 20% FH I COmE
39 1& 5
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46. Ram spent 339, of hig
 left with ey, '
e Rs 7,102. What is th?{t.:l: apend_mg 47% of th

e ou P € remainder, h
T ﬁ;;{-qg & Py 33% g e nt he Originally had? e was
By g3 9) TP & BT 470,
: | meﬁ%ﬁtwﬁr:ﬁ?ma}mmw“”
b) 50
47 ‘gwm erest on R | 2)4 i (d) 20
. S .
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hen interest is
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P 2 8° P
o
] and/simple interest m& at
S0. 80..What is the value of x?
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b
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Boo° k %
M 800 interest at ¢
"

t jves Rs

years. What is $
@ @ o B mmﬁa(:;%ﬂ%? E
} grer g 8 | e 06 (c) 5000 B &t 15% .o,
4000 (b)3 o Ra JRTILED T;:; ﬁue - . &
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x qasaﬂ‘\'lﬁlw%a'ih mﬁmmgleﬁlmﬁm@h
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4. (@) 1’3 (d) 22. (d) 31. (d) 40. i: 49. (b)
5. (d) 14. (&) 23. (b) 32. (o) . 50. (c)
6. () 15. (af 24. (b) 33, (a) 42. (a) :1' (@)
7. (c) 16. (b) 23. (b) 34. (c) 43. (b) 5:25 ({i])
8. (b) I 26 35. (b) 44, (c) 54. (a)
9. (b) 18. (@) | 27. (b};,.L%' (b) 45, (d) 55. (b)

1. (a)

2. (¢)

3. (o)

4 (a)

~ Option (a)

637.28 — 781,47 + 257.39 Apply digita

SHORT SOLUTIONS

— 8 — 9 +8 = &
Optlon (a) T DS 7 2 a8 Answer BT 7§
Apply DS concept

44% Of 125 + 75°/u of 840

Option (c) 68

Apply DS concept i,

58 x 96 x
4%x6 %8

—_—

24 = 6%

Option (¢) 345
Apply digital 8

365 * 459

62

8,

x 5

5x9x1:9

906

36435 @1

sum concept

%

S

5@l DSl‘% T Answer &

%1- agﬁ Answer @PTH

um J,'j(}"f'l'::ept -

DS 9 2 @#l Answer &I |
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e swer@"‘"' 45¢
Option (d) 454127 31 DS 8 & &5 11. (4
5x2250+3x2750 ot

6. (b) r - 8 - 12. (d) Apr
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6 =
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2 14s G =125 [8 b _
e T
on (c) 2744 1 DS g2 a@ Answer BT :
A0} )DS Concept
; 97= :

25.(b) ¢

22. (d)
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1 i
64+'6—4-_- = DS — .
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>
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= +8 RDS
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pos ¥ (34847454
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Ex:2. 15863 - 4869 = 10994 3 -4+ g-6+9
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(1] = [7]
-6 = -6+ 11'+5RDS
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’ 4. Divisio
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o (A DEESER
Soln: 39 - 6 mﬁr@

@ s 1% Q=2 RDS +2 RDS AI],SWer Verify
'} A 1w

Ex.2: 60———) )
124% = (d) 853738
(a) 8557
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23 x(1-4)
"10’(—1)(—2)(__3
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=
-..__1

e
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%_ : (d) 2,42,500
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E——eerr
Example: 7147 (d) 4950 & A
O (abodp(efghi? g () w
(a) 5434 (b) & chaclt 97 | B oo E
Soln. Reverse MG concept A optIOn E""ﬁ Calcula;‘ﬁgfn%ﬁum : fg‘“ |
ltlple |
@ (a) option # 11 @ mu a) opti
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(d) 90
e .
Y, then what is th,e proﬁan article are Rs pg4 o

5 and Rs 595
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14.

15.

16.

17.

i

R = 1\ 3 o)

8% 2000

ﬁwaﬁiﬁmqq;wm%mﬁm (d) 8,450 gict #
(a) 7,800 (b) 7,605 o of a number and 37.75% of the same g (@) 17
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63,59 3 T W@ @ 37.75% & 4 'Sy 4. What
P15 2 9 mo
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T 29 A - 7 ¥ | Af zmoﬁ&m%m 6963
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m’q,a’rs.«;ownﬁfmﬂaﬁﬂ?’fm
(a) Rs 9,600 (b) Rs 9,504
Find the volume (in cm?) of a hem

21 I =T TS b e @1 AT e
/7§) 2235.5 (b) 2425.5 (c) 20

(d) Rs 9,876
21 ‘cImn.

(d) 1860

cular cone is 44 cm apq iy

25. w g R zﬂszr;ffcae ;i-gel:(igrcmz) of the cone is:

i§'24 cm. The curved suria ; |
h";ﬁﬂ%;ﬁ%ewaﬁwﬁﬁuéﬁ%eﬁ?sﬂﬂﬂﬁﬁm@ﬁr%;%ﬁ
LL (e #) s b

(a) 572 (Q(b)

1 o,
26. The volume of phere is 24257 cm®. Find it

C (d) 440

pradius.

\

@ s
() 10 cm

(d) 9.5 cm
27. The vol e of i is the radius of th
hemisphere?
U SETTIgT b T T 87

(a) 40 cmy
28. The ratio of fou

of B and 0 2 value of (A + D)?
IR WE A, B, O il
| B C &7 I A
| D & 31T | 25k

' (a) 350 (} '3%
5o :;;’;"’;ffg;;‘ﬁa : 0 e i09": 10, 1 both ofhem get?
What is the new monthly salary of AD 1€ new ratio becomes 21 : 23
AIRB P ARy éa:h Gl SBRIG] )
9:10“§|qfaa.;{a;r:ﬁ$ 3 o 02
e H 6,000 V3
%Fljl‘?lﬂ @ & M 2, A Ty STTUNT 21: 23 & TR =

. A BT 531 71D
(a) Rs 38,000

i
¢
i
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t number of £ digita'cenc”t (3o
tl e e
Yy d-lVISIble by each of 8 12 1% L
8,12, 15 AR ik
! 20 # 9 yopp -
H it ey W
of money wh(f) 99?60 (d) 99950
Mpound inte - V_V‘lll become Rg 201840 at the rate i
16% @ arfif ATH E
R W TG A W) =
(b) 1,50,000 | o §
S (©1,80,000  (4)2,00,000
: te c:i' 2000/1- zyars at compound interest (compounded .
i >-PeL-annum, Wt is the interest? P
() Tt o . S o
BT T B X s e (e < 4 ) T 2
1%, o & e @2 P ,
“(d) Rs 5640 -
num compounded - . .l
cipal (in Rs)? ke
o IR 7727.104 3. 81 o
~ (@5500
sound interest after 3 -
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_ Book
Hack
maths S
Nt

' 3
%". Find the volume (in €™ )
‘ 1 .

42.

43.

45.

(a) Rs 3,600

.__lar cylinder of diameter 3, i
cireul 4

" K
e e B ST (e B

height 10 cm. . = .
2 ﬁmaﬂwo@ﬁmaﬁw g
@ (b) 3275 (c) 3621 () 3465
b ¢lead is to be drawn in t0 2 &Y findrical wire of diame,

i 0 . is:
I£3.96 o102 Jpnits of the wire i etees), 12

If& 3.96
AR P TS (

(a) 130 m

The volume/of

21 0.6

external dimensions 90 |

8L {19 90 THI x

3 forq fee T @ :

(a) 46720 cm®

Cnl

18 metre deep well v
is spread e
platform is:
7 AeR AE,

(a) 2.75 m

60 discs each of diametfep.
above the other to form a rig

60 3%, Rt & s oy
DD YT A 2, Rgad

(a) 4.25 x 102

The sides of a trj
the park at the

(a) Rs 8,584

oyal Sir

angular park are 2=
rate of ared

TP FRADR e gy

3

b) 3.05 m

(b) 8.05 x 102

180

om and thickfiess 1/3 cm aré.stacksd %)
TCUlar cylinder. What is its voluufle "

N 21 3901 &R Arerd 173 g S wE P
"1 P AT S fifif grar & | 90T

S EGD ATTO T FE S35
N\ 1(d) 126 m

thickness 2.5 cmyi
$ UG 43 diew mp
' (d) 49050 cm’

he earth from diggit

qers < Proch g
" __zsr G i &

(€)3.2m ¢ @fTem

(c) 7.62 x 102

(d) 6.93 x 107

53 m and 66 m. The cost Ofle"'elll .



181



. |¢) Method-1: MG Approach

&

Question THT 7T & D &1

U ol & {5 Answer @ g%iple ST it option (c) ¥ 2 goi

1,209 Answer BT | 98 S@T & swer mark @¥ <A © |

Method-2: \
34 85 3169 \ ?(
34 -

19 B (3162)as‘ré1a"c’r§,a‘ra1ezﬁsmmmgaﬁ,—,r (34) & 3 3%

multiple 8] BFIT| ST Answer o= calculation Gii‘é mayk @R |
Method-1: Normal Approach

125 : 165 : 100
25 : 33 Answer
Method-2:

}92: 165,90 aption ¥ ¥ 3 e f cak o £
. o

# (25:33)®)

Normal Method:

Total Selected

[13><10—11><11]=9 Dk
[4°X10_20x11]=180
Sunit = 189
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-WWQue'tlonﬁa}t ;
g, S option (b) (260) ¥ | tal (11 +2) =
‘afﬁﬂ’f option 814 13 3 s o

T option (b) (260 — 40) = 20
— 227500

(13) &1 multiple option Answer

Bl ar iy total it 7
o (40) T W 11 7 mus; &
11 multiple § | multiple

MG Concept ?:ﬁ'r » o i mark FNI |

15 sec ; %] e
k#;y
e |
.’.
fﬁ’rﬂ T 1,
- #_-4

'%fﬁ"ﬁiﬁ -“" Denoxn mﬁﬁﬁﬁwg@é ..

Answer SiT 21 al 3 @1 multiple ST option (a) 15 €| %
1386 @@ multiple .

x 110—> 4158

0 x 100—3 ultiple BXIT it option (d) 3600Answ~ers}m|
Bl m

option (8) 3R (c) 9 & multiple

35

er 9
90% x 80%

Ed multiple G

acmamm

ion (@) 1296 Answer &1
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= Maths HaK Book =

9. (d) () x108% option d

@ Ls + 9, Answer 9 @I IIlu]t‘;l:'l""ﬁTTT
} 4536 Ans. 35 qec, BT @HE T

9 3T QUHY Answer Mark 81
10/{a) 24 x 18) (18
& e

11.(b) Tt <f¥r &1 ) - . tiplem g4feTy optior |
(b) 7605/A Y A 4
12.(c) b <& &1 55% & 7 multlpie &7 option ¢

13.(b) 26 x 26 x 26 —

| 14.(a) 18%, 9 & TE UM 3 &8 (S)W | ;

| option (c) 3f% liminate & SITG | Ans ultiple |
@ 3800 @ 3MTX 19 BT multip ﬁ

g4fere (b) ellmmateg‘f ark BN Hebd A

optum (a} Answer &I T | é
H}Answera%wsy gkl il

15.(a) 9 4 number § 8! e <&
option (a) Answer &l ST |

16.(c) }95 %96 —— 5512048
20100 x 100 —,

= 1009 & 58 3R 20% v 5 |
(c) Answer &1 TG | i AL Answer (125) &1 multip
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‘.- -H’rfdius (7] ﬁ multiple E?I’ﬁ"” a& N
pi Ay

. @Tﬂ]ﬂﬁcostﬁm#[EI hJ

+11 4
SR 9 @ #ff multiple BT gfom Opﬁonh

ar Answer (11) @1 ™
} (9504) Answer & G ! o
)AW Volume of a Hemisphere = 3
3
5

7
T multiple

11)d A1 multiple 8 S

73 41 radius (7) B]IT 81 (7, 24, 25 triplet

2r i option (b) (2425.5) Answer &1 T E &

o

25.(c) ¥ perimete ‘z

= el [(£25] BT multiple (c

- - HIOHIT GO

% T 24255, (119 multiple ® 7 (1) 7
lﬁ | MG Concept ¥ o

Id &1 5 second § Answer mark' o 2 ‘

2_3
27.(b) T 155232

ple & qr . |

& e | )7 BT muitiple &N | Option (b) (427 4%

28.(a) 1 —25 -
14———)AnSWer7$T

o ?ﬁma‘ﬁﬁwuug)

# Answer K

S04 5 %

- Ry option (a) 350 gl
| ?‘ST %, ?ﬁ' Answcr 7 m mlll '_-__-_.‘...

42000%. & |
MG Concept B yge

t Goval Sii
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‘E'ﬁ (3) © sHfm Answer 3 gy Multiple

BT &y Option (c) 99960 # |
201840 [16%~ 33}
257 25

Answer 3 PT multiple gy b 9 BT T8 — 7y option (b) 150000

erate 20 +20+ 2020

=44%],44ﬁ 1137 multiple 8 gwferg

SGIﬂ%I 2l '
Valﬁe putting e OO s
o = on () 54 Answer & ST T

. A 1 -~ optlo
: mm Answer 9 T multiple i

B v 25
- 24I>
*b) mx7x25%6

o
7 m‘rmultiplewﬂwm

L—;Answerlla( ]

L
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2h=£x[21) 10
‘i 2

4

(o 3)2

% er (7) @1 multiple 21T il option (b) 140 Answer & SITUT |
42.(c) 90475 %50

85 45
- Answ% nltiple BTG Htion (c) 69750 Answer | o

AEtals L

2Mh (7.7) + 21(0.7) (7.7

188



hod ¥ &9 Point Zerg o,
: ngJﬁoptit:mﬁ'ﬁ]-@;grr,\,l

P

lation uil &4 Exam

(1) &xbxe
. dxexf

(2) x%, . m
Y%, ?
x q%
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_ ok
E====== Maths Hack e :
: 30000

Ex:1. 25000 x 40% = ? (¢) 10000 (d)

(a) 15000 (b) 12000
Soln: 25 x 4 = 100 : _ |

. = T )
A § i< - @] Ignore P W al Answer &l 3 o i

@ 379 o option # orﬂy[l}mwzero

k .. (c) Answer
_ 18000 _

EUCE Answer &I X Legi 1

fa), Answer

ignore ®Y 2 |

Ex.4: 375000 x 120% = ?

d) 4 |
Soln: 375000x 120% (d) 42 y
l 3/75

37.5% = 2% 120 =45

o  f3rF option # 45 8y 5y s
ignore ™% @ |

-, (b) Answer

it Goval Sir ———
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theratio3:4:5:
the sum of all their

fqafa fawar e

S . tween the
are in e ratic z o 12 @ e i
est number is 180. Find_the sum /Ol

mm@@m

(d) 750

iness f
ns start & busi e
B pe if the business fetches an annt ual p

first person thdra.wzrsoﬂ
re of proﬁt of the first P
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ok
I#:: Maths I-Iack Botested for General Awqy, n
3
the candidates wer; and 45% failed in GA gy, 4 .
5 Ata recc;ingtme:l :;;‘; Techniques (QT)- ?1'41?3 6 candidates passed in bog
(GA) and Quanti g ",

o failed in PO
respectively, while 16% idates?
4? P of cand;mm GA) st T T [QT]

what was the total number

7/ e el e , SEAGAR] B A o 3l 45% D T, Tafd 4gy
i T %{Qqﬁmmwmlemﬂ?mﬁ :5;;::1? W@Zﬁm;{g
3 aﬁﬁma?%mﬁaﬁﬁm
e o - (d) 850
{ﬁ) 800 (b) 600 . B(g)andDSuchthatBSSharels1/30”15

d amon 0,
. :;g:m (;: ;11-1;2112 ?slv‘:gs/o of B's ghare and D' SRShairg()l(S) St%ﬁnoil?essi}ﬁz S
S
dlffercﬁcerﬁefween the shareofB d D i fpar wrar 2 f6 Ba R

Ta%%vé:f;?ﬁ B?ﬁ%ﬁﬁﬁ o%m?am%ﬁm
" 9 ST 1600 3
?ﬁrso,/o%‘wuﬁ ,:@19 f%ﬂ-frﬁiﬂam = W, :00

() 9600 4 }
iy mt ber B is equal to 2.5% of
( _-"lhen the sum of 40% of

Aand .'5—? ] == D S
A AP 11/ B& | b Rt ST C, @ 2.5% B
2 9 f - o o 5% 20% 1 2 2
: (a) 360 (d) 300
i 8. Surekha s A d
k: and SS%f the [ 9 e- ies. 16% of it on rent
. Rs 5,940 1 i be=srmmt . nand others. If she saves
T AT s e glptnd %nlrg;t%ﬂm .
TR 3R I F1 S

> - 1%@%14@#1‘-%5940

. ¥ Rs éo
presence of sunllght the con percent water were kept in ight. I
evaporaufjn Find the reduced ;r;:gﬂf water reduces to 85 per ’ -_
15%@%{@90%@%% : ]
TET BN IURART ¥, arediapeor o W ;
| 3 BT HeT I a9 Trq
(@) 10 kg (b) 12 kg

Mr. Stark gave 30% of the mon,
remaining amount to each Qf
remaining amount he spent on

amount of Rs 14,000 he ¢
Mr. Stark initially havep €Posited in

wal Si
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% . Point Zerg p -
b= e
?a‘ T gy Method
by Tﬁ‘“*‘*ﬁmww%'
T) 5 3 14,000;.7@[m”ﬁ’_Q HHH 0 g+
" 16y |Rs 4,00,000 (b)R | PR weref & g
ﬁa; ' ' gave 30% of hi ‘ 3’90’000 (c)Rs 3 00,00
SRS 1S m . »Y0,000
me-he gave 30% to h‘;::téll}’ income to hig father (d) Rs 3,70,000
" t of money still reaug_h.ter and 25% tq hlsa‘;lff of the remaining
es. If he inv Ing from his mon €. Aman invested
of Ay he Invested Rs 42,000 in each sohoar s STuely in
If the ' i thousand)? each scheme, what is Aman's
TIRTP 31T BT 30% 379 fyar Y Ry
e =t I Q\rﬁf
%RTI P o b5 SRS TR E 3y ﬁ?;n;q?[;fo;m & Eﬁ’
. ) e 300
5% of .. Veena's salary i
ary is
0% of Veena's salary is Rs
EREN T IR AT
BT A 91 87
7 rent = n which a sum of Rs
ifiterest. The val}le of

,fa,’\fl'q 5 = .__-:_.' L 0 1 . : '" 5 %,G'ﬂﬁ‘[:ﬁ
o i/ l 5 2o gy ad AT e | 8 ﬁq‘[w

. - | (d) 6,500 @
sie"interest for 2 years, and th *é

nt. II; 4, Ankit invests some money —— He earns Rs 1,740 in all The

ju€ ¥ i {;u:n for 4 years at 10% per annum: L ) i
- Invested i h case is: Y

ﬂ:,ﬁ j&é’% ;gm eamc ﬁczﬁﬁﬁqg%wummwaﬂ?wmﬁﬁ;%m i

a@ L 10y aﬁa@ﬁﬁmm%lﬂg@‘w]*m“”a Ay

H e & T X fa f & (c)Rs 6,000 (d) Rs 4,500
the interes*
ally?

a sum of Rs 15,000 at

ound interestl on " semi- ;
be the compP in one year, interest compounded i aar &

per annum 1
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el

S

17. )

18.

19.

20.

21.

22.

ook
- ded 8 monthly. The sum is; Ty

The compound interest on & i
Rs 3,64 IF.) when the interest 18 cor%pg-\r goad @ amaia < 3,641 Ry

-q-[ﬁm?mﬁ
v Piftad ¥ W 15% . yar &1 o
NARUE (d) Rs 11,000

1 gy @ 8-AIRI® ‘Z“;O (c) Rs 9,600

(a) Rs 10,000  (b)Rs 9 two years at th

The compound interest obtained o1l R 65851?)( f(:;ill beg ¢ rateqf
interest 8% per annum, CompoundEd s Eﬂ'@f, w® g aiffe 9 | &
a%mﬁzﬁmmﬁa?ﬁa’rﬂﬁﬁmﬁ'gw g
ahafy, @t a1 BT @) Rs 1,450 (d) Rs 1,040

(a)'Rs’ 1,500 (b) Rs 1,020
A certdin sum amounts to Rs
interest i§ cofnpounded yearly.

in the 4 years at 10% p.a. when th

9,282 :
g le interest (in Rs) on dou

What is the simp
t the same rate?

of the sum for five years time & .
e Ay 2 A dR R Her B €, @ T PR SR 4 9
R 7§ @ X W28.28 2 ik 2| G aRER aiE a8 @ foT, 3 e g
“gi =]l a.q?-':. el g mﬁ) i ARl %?

(a) 17,000 ~ (b) 21,56 - (c) 20,000 (d) 18,000

What is the compound intepéstton Rs 24,000 for 2 years at the rate of 10%
per annum? (If .interest'is ed annually)

A @t 1 i w4 § ARG S 2, W 24,000 FTA R 10% WA
X W 29 B R Tt @ %

(2)Rs 5,040 [ (BJRs4,820 | = (cfR86,080 (d) Rs 5,280

What is the compound interest of Rs 80 w
L v T = U, T 1 T
annum, co IOEEA hal . ~ 1 year at 10 percent per

80,000 T, W 1 B . 109RTT TS % o Aapat
. B £ mi = E':q X Yhd|q !
adaiiie en v __ lm(aﬁ:mﬁ
() Rs 7,000 %, (b)Rs8,800 (c)Rs 7,200 (ﬂ) Rs 8,200
- s

YR < TE IR F 3,400 HRY
(a) Rs 5,000 (b) 6,100 mm'wm?ﬁmaﬁwaﬁ

If the simple interest on g certai
9.5% per annum exceeds the si . i
at 12.5% per annum by Rs 225 el

zrf%wﬂ‘ia%%qg.s%;r%aéﬁwﬁ

(@Rs 42,000 (b)Rs 48,000 m{iﬁm 8, T oy oy ‘:;: :g ?ﬁ
S 35 ) =
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. Point 5
Q 12% interest earn dZQ op rcent Me
Mg 88 04 scholarshiy, .2 Sum of ethog
lue (in Rs) of each scho) .4 Value eye 60,000 is 1, be y
?}% arship » Ty year in 4 sch sed for
y .-0,000 mfﬁ ?ng’[ Y mﬁ-ﬂ 199, s 00l. What is the
; ' ¢ k2l ;
. 24maqﬁ=lmé¢r$]%.q%mm%l Ww@aﬁmmw
{a) 1250 (b) 1300 I BRI 37w )
e ok the difference between th (¢) 1150 A 7 27
“ " the simple interest € Compound ingere 9 1200
. y s R 2;88 o7 & certain sum of mo St compoundeq annually and
fm g BETY 2 0° q?f’%[then the sum (in Rg) js:  ~ for three years at 10% per
he : W%Eﬁiﬁ%?m%maﬂﬁmgw%
b) 10000 & 7 T (o o
the _ () 8000 (d) 7500
1ble " f money for 3 years, compounded
0 Pﬂmum 18 Rs 1,324. The sum is:
10% [ 10% SRt 1 &R Wi 5w A wafora vt
] T 1,324 %3 & N\
_ [@Rs 4,000 ¢ | 0 | . (d)Rs 4,500
%. The simple ir ears is Rs 6,000.
e sum at the
10% :
§ @ st & fore w R Tty AT AT E & P AMD Y

20% less than
the difference

ﬂ- ﬁ : ‘ L o . : ...-_..= . = J- e} ‘ gioht {in cm] of
. \ | NS ;ﬁmﬁ

dis . "'..:..: Vo
; ﬂlc : D ﬁ ga';"‘ s Hur =il 454 ¢ 6

& @ B & Sarg (@ i _“‘”_(;:}150 (d) 152
a% § (@136 (b) 140 2.00,000. The rate of growth of -

| B | .. in the year 2020 was <, -+ in the years )
‘! § = The population of a city in Find the population of that city in
 Ppopulation is 8% per annur: ? '

vl I :

t 2 ST < 8% FATY - .
r;; " 21:222; 3 7o wER B TN 2,00,000 | w /O -
r - T 2020 ?

| | a7 e & 0 O

_ i 2007 ¥ 5 Ve cale sl 0233280 (@ 2,12,89 ¢

1,785 (b) 2,29,484
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| 2 (@ 7.() 12. (d) 23. (b) 28. ()
'3. d) 8. (a) 13. (¢)

47 9. (a) 3 :
5. (Q: 10. (a) 15. (d) 20. (d) . g
SHORT SOLUTIONS
f

1. (o) ><9[2—%SOOJ (Zero BT ¥t ST

18

@  Zero Jahx 2 : 1811‘@1 9WﬁvalueS?ﬂ'QﬁvaluedrSﬁg?ﬁGﬁoptmn

(c) 4500 Answgr_a’r % Vi :

5 A o AR, sgmé‘ffrrrf‘w 5% fsiﬂhc.:ptlon :ﬁr.7
Mark @R T ity optlon (d) 750 ¥ 2|

(100 -

(54 + 45 - 16) = 17]
17% —2-—5136
100% —*—[800]
o Zero 3R % BN ignore B | aig ) ]
36

SITYATT, forg optlon'ei 8 WWH
Answer Mark @Y &3 |
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W % 4 BT 63T 24 2| T YIR 55
% H 33 G MG SH Answer Mark
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b
[}
[
|

ar

12. (d)
!
!

} 13.(c)

o

15. (d)
ar

16. (d)

ar

ack Book

iﬁ Jmﬁ:ﬂ: :0 Eq'['cﬁ]‘Relatlon%)I 100%7473

Point 31 ero T ™ 3° e e @ Answer't-'" SITEMT ST option (q) 4 00
W 4

g Rrd option
@I Answer Mark B ﬂ'l"fl
70%
30 + 25 =55

ﬂﬁ’ '
FRcmaininB 7'15
O 15 _ 10,59 x4 42000

s 100 — @

14.(b) 58% —3, 1749

s
e

R x 24 = 38

115% —
100%

115 &1 6 ¢
q8r Answer

100% —3_, 3000 | , O
58 BT 3T 1740, 100 '

) hT 3 AT ;
15000 x 8,16 3000 option (b) Answer &1 STC |

zero, decimal i --
perce o
mark 81 s ntage BN YA 816 oy 1.5 T[T 1224 2w & ARE

33.1% XL, 56,
100% — 1100 '
331 T 1175y 3
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S20

o opﬁon(aj 5040 "'

[ o4
6 &
%&
O I
. 24 mmmswefmﬁkﬁ e | Optlon[b) 1300 Answer O J :
6x5 =130 ‘
|
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'! « for@ Option # ¥ L
%
“2227%:&1.; 12000 x 33.1 ye %
} 12x331=3972ﬁ1ww
27# AE R
O o PR TN
&- ¢ + 5
04 420 45 25

()

(a) 136 Answer
28.(c) 200000 x 116.64%

@ 23328 f97H X i‘a :
233280 Afis Libey
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nore
stion

n (c)

(A) 55360

(A) 242

(B) 54780

i (B) 342
(C) 59550 © 313
D)5
(D) 51330 (D) 345
) l |

11*26

1455750148 3%-}30 R, Last. dlgltﬂﬁ |a5 'g

Last # (80 AT 30)

B—="

it ey Option (b) Answer

(A) 1497
(B) 1477
(C) 1531

2 e |
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.2 1.8x13%="?

22.987
(a)62 (b) 622.934 (C];T[T
Soln: | {§ .84 Answer Option (
Special Note:- b N |
Spe D Method TG | '|;
= f&dl optio r of zeroes AT Any
@« LD same & | 2.
e unit digit frd s
@ Last® z
21
Eg.: 11
4 _ J :
[1I1] Same LD 8
Ex.: 47 x44=7 .
(a) 1978
Soln:  (A)1978
B2068| o
(C)1798 option 9T Last digit same &Y
(D)1258 -
x
“—' 8LD same 3T %&1 wly options ®
A9 BH tens digit Q¥ focus D
Answer % qﬁ? THYy 3
8
8B+6=14 '

*2 > wifte

16 tenr
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'@‘?mﬁﬂvﬂaﬁ4x4=
B A 14 Last Digit 4
~tens digit 6 e Sy

‘ is 20% more than that of B, and the he; )
3 ; ) e heigh .
9 height of G is 205, eight of B is 209

! more than that of D If the difference
the h . s of C ax:d A is %Q[gﬁ% thgn what is the height (in cm) of B?

gyt e A
. '20% aﬁm%a@%@ CH20% F9 2| C Fr
e NG ' 30¢ uﬁcﬁ;«aﬂﬁa@%ﬂamﬁms.sﬁ

: u ssful candidate 1St

5 (b)4,37,575

ﬂ g d

qe &
St 79
6  @4219 é
12,58 : O

000- The FALEC S, - ear
. the year 2020 wasuzlft?t;n of that city in th€ ¥
on of aCIY X © “r. g the POP PR L

< R0/ annum.
ion is 8% per i e qffa"

h.C1

22, \ 0,00 0 off
020 7 T A T 207
2022 # 3 AX ?Z' 2“9' '4“8 e 2,33',232 e e e
7 sy f

pins i " dccrease;;‘vigey:opulaﬁon o
population of

a villag27 p
ent population i$ 08227,
ago?

F %
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= Y )
' — ot 3%
o it B T " T o e (d) 32,472
) 31,868 (b) 3056 " ita’s salﬁfyv- eena’s "'ﬂla,,
(a) 31, is equal 0 38% 4 Sunita eena’s gq), OF
6. 24% of Reena;B tﬁalatgal salary of Reend \
-thil‘d o B Fpt ! is:
iRsas tg,ooo, then Surt8% 58;3;38% FTHRE . Wf:a:{' ALE
& e 1 24%, T 6 A 1 3 62,000 T &, T T 31 3,

10'

e @1 A-RETE B
Rs 36,0
(b) Rs 38 000 (c) Rs 35,000 (d) Rs 00
() Rs 32,000 ome on groceries, 15% of y,

L]

| of the left Over on children’s educatjy,
h, then how, much (in Rs] does sy,

Savita §pends 20% of he

g
remaining ofi fent and then 60%
and others. 4’/ aves Rs 9,792 a mont

g @ 15% v Wah

fdar a1
5 95 BT 60% SR HEM ¥ 9,79)
o (d) 4,200

everj-' decade. If the

f;:jf,ﬁ as 1940598, what wa |
¥€ %@l ©, afX 2030 ¥ I @
; -
i SR P e e &
1 00
AL d)20,00,616
on transport stationery, 14%
1,520.0n remaininé
9T, 319 WP A 57 96 <Q‘
ﬁm;‘;’sﬁ?ﬁ@ 1,520 %) gy ﬂi‘g‘m’i ¥ 14% gy 1;’:
ke PRAT R, 1+ b (AT
(a) Rs 6,00 .
) Rs 0 (b) Rs 10,000 ©R (
The population of g o $ 4,000 (d) Rs 2.000

will be the populatig ‘nereasi
population is 160005 of the towp onmthgi: E:]:F "ate of 5% per annum. wha;] {

W mﬁaﬁ mw 5% ﬁ _er two yCars ifthc prescﬂ
3TaTdY 16000 %.aﬁzﬁ“a"%??ﬁqam% |
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tion, the winpn;

= nlng C .

q orate. andi

@:ﬁz n e bThe only other rote TCCeiveq

. Umber of members ‘cv?lndi ate reCi‘ 44 VOtes whi
0 diq ryoy _Cived 290, Whic

Votep bl
Bl 229, g :
Iy iy (13)984]:?—(}rl T ey Eq'a}@qﬁma%
) ¥ (c) 986

was invested i i ¢
?:IT ed at (x+4) %, f;ttzgzl;mttemm o D8 | T

: € time it would pa. i,

) dh

. Had it been

ave fetcheq Rs 1,800 more

{ the.simple interest on the 4

ame sum f, :
or 53 years at 8% p 4 »

aﬁa%i’avﬁéw%mmm
it f?»rq, N W 1,800 w53

3R
792 :
~ (d)Rs9,520
and Rs 4,000'%0 Ganesh for 5
o p.a. and received Rs
vas : . = ¥
) =T = 2J) I%;
ot S 35 _ 43,200
4% mounts to Rs 11,616 n 2 h i (in R .Li
ng interest is compounded annually. The sum ll.n -
- - = ?ﬂ, £] JI? a‘é ﬂ 11,616

¥ w9 G grar & @ 7 .
% N o S oo oA (00 ﬁ) @ &7 v
q B 5 15,400 (c) 9,000 @9 o O e

’ ) te of 1 \ B
i Je R Rs 24,000 for 2 years &t e C '
compound interest o8 © ' 5 sually? 4
anum. If interest is cO™P ouﬁ et &, 1 24,00
e 1ot @y e ©u & HAOT mﬁ? ,
nt 1ol f'-a’a'ﬂﬂT !
0 {C) Rs 6,
™ ,040 (b) Rs 4,82 oney for 3
n a certain sum i 1

| mis I
pound interest (:erest of 10% PRt #RALY

ly, at a rate of i
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W17,

Book A T
—_— Wt e
& ferg 10%
wﬁﬁﬂﬂﬂﬁl‘“”‘ﬂ Bl d) Rs 4,500
o 1,324 T & () Rs S &
(b) R8 5,000 such that the ratio of y,

18.

19.

20.

students in the school is 1305 Th

(a) Rs 4,000 ¢ _ .

fCandDisq.41

o ad' R, B .gandthato 7

AIBELS v ; e:::r; of B aﬂdfcl;alzzd- p is R 708,then what ig
' hares ©

shares of A andBis3:

f the difference between the

i‘&iueof}g iy ﬁﬁ'ﬂTtﬁTﬂT%ﬁsA

S A eI BT A B,cmoa‘zéﬁiﬂ ; .

;ﬂ?Wﬂﬁqﬁé:z%Baﬂ?cﬁ%@ﬁmﬁqﬁmWmsmgm

f%z?ﬁ%f];mwaaﬂ%mﬁBWD ol @ g
' y8,496 (c) 8,850 (d) 8,

(a) 8,732 )
59 j hirts and t-shirts at th
U #faced a supply order for jeans, shir® the
zr\a:sgogt}igzpseﬂ ol angrl)?-.s 200 per piece, resp! tively. He buyg a"‘,‘d

in 5. 3 for Rs 46,800. For how many t-shirts did he

of each type in the'sasio,
%%\qu’ﬂnsoo S0, 350 BUA 3N 200 T

place the order? v
F¢ ) 78 T SR B aeqt 1:2:3 B¢

wifey G B &= W ST 3
¥ 46,800 T 4 BRI fare &jﬁﬁm fear?
(a) 104 "r. b)26 & ({) . B ) 52

The total number of students in three‘classes
is 885. The strength of the students in he first tw i
of 4 : 9. The ratio of the number of students i the second and the thi
classes is 6 Ek-!.lll_tl.‘wamthﬁywﬁsﬁidentsﬁm t ' i
maximum nuﬁih_gr of students?

w SV ) @ A weEsl § wEl B
¥ BT B EET 429 F AR | LTI
6:11 %1 96 BET ¥ e BT ¥ forem

Ay (i g2t (c) 954

(d) 459(_

Rs 86,581 is divided amon E
between 4 times the share of A and 10 ti thees i‘;‘zo ;:f 9 : 2. The differ€
W share of B is ? /|

86,581 TR BIAARB B A 9: 0 o
$4Waﬁvsﬁﬁw%1om$m%§£‘m?mm%m

(a) 1,35,936 -
' 0)1,25936 (¢ 1,36,952 (d) 1,25,963

The ratio of boys and girls in a schog] 81713 4B& oo
) ' , and the total nun
: .
- um. : ber of boys in the school i8
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(b) 765 (¢) 750
- .
o 63,404 is divided between A and B j
> isoj, en 5 times the sh :

th i .
A OanndZthne € ratio 4 .

4 B9 BT A AR B & G

4:7$W§%ﬁﬁ'ﬂﬁﬁ
i -aﬂwa%%wa%zwa‘:éﬁwaimwé?
A gk . (b) 34,580 (c) 45,384
3R Dy

(d) 43,458
parts in such a Way that one-fourth of the first
partand one-sixth of the thirq part are equal,

is divided into three
o &of the second

‘ts at the .
'S articles

rts did he (o) s :
o Qo it t the ratio of the

A ' “ dBis 2 : 5. The
1200 3@ | o8 <y f A and B is
oy T T © &

e v :
I 2:5 81 B hes
itute
; It?lzt;ano : ber of students
the thif D/
at hasth o ﬁéa
P g™ &é
) .
e @)
| t A: B’
? s 6342 is divided a’{?‘:ﬁgsshafes
t is the difference peewes

astier®” 2 1 < 71 A B
4 @ il 3R D & wrl @ 49
I A

i 6
Rs 302 (b) Rs 99

e partners A, B 21
rofit for the yea’
e of profit after
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(@) Rs

129% of her inco™e:" |
"j—*‘“‘dy o o e T 2,16,128 T gyl
is: o T F 21 W B
@ S AT P 12% :
el oY &
B/ (o) Rs 2,43 560 (d) Rs 2,45,600
(@ R B4 04 3 L amand then deducting 25% from
duc 12% tro1l, 2 s 3
" ﬁﬁ;iZer 'ﬁ' g is leff, t. en what is the initia sum?@f -
e i & 25% B B ap
N CULd & 12% @I ﬁ?ﬁ?ﬁ EFRef $ 'G'ITF( (”ﬁ? 4 5% L
@ 918 2508 3N XEN s
(@)3500 4
30. A borrowed a lo “terest for 2 years and repaid ti
loan with intere The amount of loan taken by Ais |
A B¥ ;:f a9t & fo oraT © iR 1,91,86
Ll i A g7 @l a8 For B it e
() Rs 1,88,920 (E{BJR<1,66,492 il c| RS 1692 . (d) Ra 1,65,400
31. A sum of Rs 84 s to Rs 1104 _
certain tim ; = J?- .a. sil ple interestnf
| same rate i ; Of Rs 10,800 at the }
| 8.75% wfRrad & s
] L°Ed 4
w1 B o § | S aw)‘W‘;‘“‘i'f"8400a%hTm o o 3 1104
| T &? ¥ H 10,8008 iRy TR AERT A |
32. : o S (d) 3 42({:'

(a) 1699.6 (b) 16956

By selling 18 table fans for Rs 1

fans should he sell fo :ﬁﬁq, 3|
rRs 17 424t &mm o
t0 earn 1o, “"““ 2loss of 10%. Ho¥ e

(d) 1758.4

AN
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: (d) 23
552 and a-b=6 thep (at+h)? ~abis equay t
0:

=3552 3R a-b=6 & o (a+b)? -ab &7 7 gy B
(b) 636 (c) 568

(d) 618
) of a right circular cylinder of diameter 42 cm and

volume (in cm?

waaﬁaﬁmﬁw(wﬁ)ﬁﬁ

(c) 17,321 (d) 16,729
misphere is 19404 cm®, Fi :

209



i
|

N

AS :
f 20. (b) 5. (a)
7 NS O a8 ) 35. (
5 |
6.
18— 63 >
20 — , Last digit 63T a’rgpn?w 136 Answer & WITTI Ep

Note: %9 Question ¥ D & Relation Redundant %ﬁ' SS9 89 consider
=81 fear 2 ' £

2. (a) Groceries + Rent = 40% J

2 e _-:-'-!: '4
Children Education _, i, =33%

100

Remaining = 279 —— 5940

> 9 7 H fruy multip]
option @T last digit gy ar
R8T 8 @ zero oy BV oy
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000 x 116.649%

I option (c) 30000

1 :Ti
mﬂ’ider ™ ";_:f

i oountﬁ
&I options (b) 3iX (d) @7 LD same ‘g ﬂﬁ) T;:g Answer §
R Answer dTdl option # option (P

99 x99 ___, 1940598 , ; /(‘

. 8
x 100 x 100 —— g @
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;
!
4

9. (c)

11.(b)

12. (a)

13.(b)

=== Maths HaK 70,15~ %
P

' 8 @I 4 ¥ multiply B TR last di

21
000
) 16 x(m]

Goyal Sir

38% —» 1520

2
100% —— g option (c) 4000 2

git (2) T | 2

B SITQT |

6

4 4 :
4 ﬁ (‘ﬂﬁ 'multiply Eﬁ-_}T W LD (6) ararn % | Eﬂﬁiq option (a) 17640 AI’ISW
a8 15049 _

4 QY

30—’8

(8) @I (4) & multiply a&ﬁ)fu D (2) 3T & | $9ferY option (b) 9840 Answer

81 SITe |
oy i o,

ESTAN

17,84, 18605 78" /
3 3

3 & &R multiply &% & last digit (6) sr@ mber &I & 3/} option|

AR (d) FT last digit same (2) & | 3@ @7 e o G a1 @) zero
g4Iy option (a) 10,200 Answer &l ST | Y/
R.%t. .G ‘:;(’,
192 200 | 2\
64 x3=192 .
392 __, 4116 {40XS=200}

2 ’
200 iy 7 ,)

2 BT (1) ¥ multiply Q
(I) multiply WLD(2131TQTW$H1%Noption(b)2100An

121 —— 11616

100 — - Last digit (6) BT o} option (d) 9600 Answer & S0 |
24000 x21%
e T

Last digit (4) € SiT option (&) 5040 Answer 7t SITQATT |
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- I--ﬁ (4) o OPtion ¥ gy 4 -

=

e i OPtion (a) 400

'l option (d) 8614 Answer &1

40 Answer
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———— Maths

21.(b) 29— 1305

psfto
> 9@ (5)¥ multiply PTT T LD (B
‘} (b) 765 Answer 8 GG |

i

z 22 l ) 11 ., 63404

R 6 2y LD14) 29T option (c) Gal pick g 63

¥ options T Last digit 3 DS same Al 04 &1 & | 39FTT optio

| 7.5 T e <@ & b 111 7.5 T 634 nd
: swer & T¢I |

option (a) 34584 An

i & 23.(b)

i ‘,'

Y- o cine R 340, 3 BT 8 3 multiy
i !

O

[ ! 24.(c)

:. -?

4 | e

|

1 f

i @ Last digit (4) BFTT ST Option el

e 27. (a) 70% ST Answer |
1 s 15

: 20 : 35 O
110166 x 20% ___, /f
— %/ ‘
S a) 22 _
- 28.(d) 88% — 216128 22,033.20 Answer gy SITQAT |

100% ——» %
o 87 (6) ¥ multiply By LD (8) ey
# &l zero MY TR i’wm option (q). ___Gf_h‘__a::l}ﬁona (c) 3R (a) P12 39
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Obtig, |
® 6y
iOn(c]

ultiply

nswer

) 1758.4 Answ
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4 22x(
37.) 37

@« LD (8) 3 : ¥

38.d) F 7 o3

@ LD (9)%

6x22 (7Y

7
« LD(1)

Option (d) 2271 Answer g’t_ .

T
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: APPIOﬁmaﬁON
BT use g} o
STy 22

é Nearest to 9ol Question ¥

S%Stl()ns H = Calculation )
e use glar 2| VTN T s ¢

..

4 T3
- AT Ueal @ Wl & qter 7 my @)

. 5. 2conc &} A
e l’l’rox'lmtion e e o I

dption GX—4X A Ti®T IHATOT 2, Option YTH—TT ¥ st

X r I B ncept clear @ | |

- in the ratio 4 : 9, If
total votes

ection, the votes cast for two candidates
essful candidate received 9,84,321 votes, e

d by the unsuccessful candidate 18:
T ' @ﬁwm4:9$ﬁqﬂﬁﬂlwm
SrifeaR H1 9 B 4 &

476 (b) 4,37,575

63,404 is divided petween
hare of A an

B and C are partners: The
__ 1’92 ,380 asphis Share Of proﬁt, thEn thc S

Btk ¢ e £1795:3°°
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ﬁf— : g c-a',pacgg clt;,a’fh‘?ae th{fethe new mixture?
; o

_gook
. Gk Bﬂo fmﬂk and water in
aths Haw mixture obot tles are emptieq u:zh

Three bottles of equl respec

57,79 and 40 e perGSE ._Wﬂﬁmaam‘&s 7,79
mgebottle.WhatlS : a & A% v Srar 81 39
mwmaﬁgﬂ:gg ﬁ@'@ﬁﬁm LN
2:1§I3‘1?ﬁ;ﬁ '? 4
ﬁwﬁwmm- @512 (d) 50.

)49 6 [b) 52-3 Workers [inCIUdBS men J

; and urb g
?io of the numflfaier ?: ruraé 1f 20% of rural and 25% of urban 4,
only) in an officé

wome is: 11
of men :
women, the percentage s st &R afEamit &1 e ﬁ’w ) 4

TP

2) P < g3t W_‘ﬁ

T[%aTQ' -g" ﬂ‘T gﬁﬂﬁ %: 0
b)82:50% d) 58%

(a) 67.50%
I the ratio of 3:4:7
1,10,166 what is B

T BRd & | At
P q/€ B D RRd

(a) 66.66% decrease | # e ¢
(c) 75% increase ( 4 93 decrease -

0% decry O
The Populati s . Fiae @
population 1s 8% Ser ) Ve year 2090 magmine O
2022, annum. Ring the popmfat?*ooo- The rate of gro¥ g

(a) 2,21,785
1A = 1300 and B « 1,
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() 0.03
032
. To obtain the (d) 0.0032
- —_"y old number, by j,
b5 : OW much

311 t
g the work, the lengt
above this,

adth by 8%. Over and
he extent O 15%-
the €

;pai_r work to t
se in the cost repair oves

BT 9E D TP
$ ) qv & aneper [P

¥ 8o o af% &
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s Hack Bao[fk7-6% of the greater number

;ﬂ Math 1020 two numbers is equay

td ers is ' e
16. The difference of two positive S;mt:wn t uim of th
is 12.4% of the gmaller numbets iy - i o ol
to! ‘Hfzﬁ el 5 ‘55|é| A

ﬂmﬁmﬁdﬂ?w%?'

; .mﬁmaﬁwmww%: o (d) 3520
/(2):3250 (b) 4250 (c) 4
17, \ yhay percent of 2.4 m is 3.2 cm? ,
e i e T 8 1 ;
. . ;i
Z N (c) 10005 % () 13 %

@75%/ , (0)7.5%
V 4

15 as compared to 2014 and

" A:’r y .4 20
. f Avificfeased by 8% 1n the year ; J
3 32?:?33(:& bym&/ in_the year 2016 as compared to 20 ll?. 1lef ?lﬁ;ilgr)}l:%%?:
2,34,778 in 2016{ i§ salary (round off to nearest who

- aﬁzolsﬁs%aﬂq%'g'é@ﬁ"’?om?ﬁﬁma
4R 2016 3 SHT 4 2,34,778 HT o1, 7l 2014
¥ Su@! Ag (Fraead quie 4ep 4 ) o
() Rs 2,38,347  (b) Rs 2,31,268" JIc) Rs 2,36,402 (d) Rs 2,34,987
19. The price of sugar is increased b A person wants to increase the
expenditure by 12%. By what percen ect to one decimal place), should
he decrease his consumption?

aR 4 % 7 4 18% B R € A SR T
# gfer o2 e 8, & 99 wua A fa wfwa
eI Th)

(a) 5.1% (b) 5.6% (c) 5.3% ¥

U @ W dad 12% @
HRAT BT (T A

20. If the price of petrol increases by 19% and Sunita intends/ a.spend only an

additional 12% on petrol, by what percent sh ] i
, ould sh i
of petrol purchased (nearest to an integer)? S QN

Al YgTel BT BT 19% 96 SITelt 8, 3N FAre Tgrer <N\
g i BRSE eﬂﬁ_ﬁ?ﬁw‘ﬁmlg%

QY BT AR 8, a8 WS S et ehed ) q_‘r . i

(st P qurte ) Wﬁﬁ»ﬂ‘-‘fnﬁwaﬁzﬁ@r@g

(a) 7 (b) 6 (c) 5

21. A sum of Rs 18,000 is invested for 16 mc

! mo
half-yearly. What is the percentage gajﬁtﬁ ?;8% g ranum compounded
nearest whole number? ¢ end of 16 months, to the

18,000 TYY @1 U M a1 qrfife i

i U H G areh

46 T B R P 1) 81 3 e T 2

(d) 8

220



t ang
‘as Rs
2014

12014

Approximat;
Mation |,
Rs 7,500 amounts tq Rs 8 74'8' Mﬂthod
rate per annum. : 4

be the compound interest

(d) 4,000

' (in Rs) on a sum of R
t a rate of 20% per annum, if the ; 1 of Rs 7,200 for 18
y € Int
. & e8t to an integer)? ) €rest is compounded half.

B W HNRAT B S &, 9y 200
R % g @t (73 %) & (e ot 47

i o A &= 3 18 wEy

() 3,238

ertain sum for 3 years a 2% p.a. is Rs 6,750,
e+ Rs) on 1 me s for 2 years at 20%
: 1y? | off to the nearest Rs)

HTENRY] =TS 6,750 94

IR TR 20% Hf ¥ B

(d) 2,338
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29,

30.

31.

32.

33.

 @18652  (ho 0652113'(?@ ) gy g}m

Bool(
ves RS 8

. mple inté
An amount invested at SHHP. Rs)? .
years. What is the pri n Rs) ar w ﬁ-a—g[ F 9 800 v ol
e <R B 16% B T 2 ad d AR
s g ¢ (O DT (981000 (d) 2,500
(a) 4,000 (b) 3,5

rtain sum
The simple interest on a €€
annum is Rs 250. What is the ?;ﬁgguat the same rate
' for the same
o m"_,.‘f"?‘“;’g[”;q ;0% o 2 @ R ¥ 21 st T ARV &1 250 7y
+ fao A TR R THYE AT GUREZRE
% | T SR T A Fafyy &

%ﬁ%? AR
(a) Rs 275 L (b) Rsaxg’ob (c) Rs 550, (d) Rs 750

3 1nterest at the rate of int

00 interest at 169, 3 .

s at the rate of 20% oo,

(compounded annually)
of interest?

for two year
nd interest

erest.of 12% per annum for

For an amount _dlf.‘
6 years is Rs 0%
amount at

'f":

' self in 5 y‘@m‘s 4 months at
Y rate of interest (in_%)?

uﬁsaﬁc;qg:ﬁﬁ be the yeari
%»?ﬁmﬁ'ﬁma?(%ﬁ)wm?ﬂ ﬁﬁﬂawmﬁ?{fﬁﬁﬁ

(a) 18.75 (b) 27.5
If in 2 years at simple int,

€rest
the compound interest (in Rs) t:‘:rpnnmpal inc
n

rate?

SR 2 T H AR w77 28y
3 S T W T Tmgfy T 18% § %Ffwooowﬂﬂ'ﬁ

[C) g (d) 1,765.2

222



E@W%_lﬂﬁqusamwdmsaé
AT B9 #) fiygum?

(d)3.38
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- (b)

SHORT SOLUTIONS

» 1. @ 9__, 95838
1’
4+ —lg :

@  Last Digit T@ & An ? D 6 3T | &1 option el 7T 3714 98, 9 ¥ 1
AT ORI @l & dl 4 Dlell H’T‘H"T43§W%?§‘Tﬁ:ﬂoptlon(

437476 &9 Answer mark &%

/ 3
2. (a) 11 225, 63404 Q
6 xH5 34 V"
& Last Digit % 4 377 I7eT @ @il 11 BT ST 5. 3T VBT 2, Fﬁ63$

wqgamgﬂmsﬁwsaﬂwmvssw Al 34 B 3T

W’Q‘;I}rl $9 T8 options I eliminate H3& option (a] 34584 Answer man
PG| |

X4 =TT 4 Ty

5 r——p 192380 "

b b 230856

e T
ST 4 T[T

@ 1923804 19, 5 I wpqy 4
T & | g9fery Rygs
ST 4 AT 8 gufery Option (a) -‘haswer mark

N Mohit Goyal Sir =

oPtion (a) 230856 # *1 8
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18,9 ®1 11
option (a)
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150 0% WX 2 @Y | ST option (4) l1s,

00
%’Wm o @ S 1

40

: . ] 32 Answer 8 vy,
] @ Answer20 ¥ §
11.(b) 100

* 6.5 15.25%
T

12.(¢) 115 100

18.() RA Rk
60 100

x3 ¥ RTET
Py

108 > 3,_-g_-§60

100 — 32000 ,

N e L.

x3 ¥ SYTer

= B9 option (a) 32000 & T & W 3 T @
3 | i =

ST | TT 8 sy
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ISWEr _Eﬁ 5

rc.'r%"a‘f:
- e |
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i"_‘.‘.=s.16]
kb [4+4+ 100

— 4%
m&=2.6%

8.16

> 56 3
23.(b) 7200 x 33.1%
I

TMS.SB%- 0:2%)

2400
-14.4 T ;
3 ST option (b) 2383.

24.(0) SEL IR
b

x19
464 )

46.41 91 4.5 3w, 4,
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5 x( )200%

i | 6 x ( )200% _

| ,} i :ﬁﬂ & dyg @y | g option B eevec = oy
' - 33 ¥ 40 o = 29.5029%

. % gn::;r 18% a1 1 BT 9% i e ]

000 x 29.5% 43111?11330% |
'Q —21oﬁeﬂsvmmopﬁon(b
6/55 ¥ divide E

) 2065.2 Answer & Q|

e 3225% '. 40

100% —»

%l

6.EF \
Option (a) 64 000 Answer |

i @
35.(c) 15x157 25% GEATE S ‘

@ 16 DIfl.5
36.(d) r=14%

-

T

for 2E 7
i

| 0HIT ﬂo ) EJ /
= 43% :
= 10000 x 43% TTTR4300 option (d) 4296 Ar rer B m@s

%
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4% - 76 e et 10 digit of 2
1048576
4 5:-

UECll 8id (second last) [A¥H (Odd) ?75 3 end 11 4R ¥
) ¥ (Bven) &, T 25 W end BFTI

igit 1 a9 | convert?b‘;’-l :
— =P, (50 + x)?, (100 - 3P 100 =
' last two digit €17 gid e

262 = 676
~ x)2 = (74)% = 5476

+ x)2 = (126)° = 15876 @
x)2 = (24)2 = 476 r

P EX)? = 76° = 5776

A s 3 '_.-_! Sir
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="
|| e

o Ex.1: (491)* last two digi
Soln: &4 last two digit [aili E‘

89 x (21f"
=89 x 01

Ans

21 = (100 —

x)* = (100-8} S

Ex.3:51%° x 61°, Last two digit = »
Soln: 51“56 x 61657

30=5x6 1‘1-1

Now 01x21 =
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7 3@ (last digit) o8
last digit fora off o

T Number ?ﬁ%ﬁ on al

@)
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N\

ger il .
qpUa Remajnder Theorem ki § & Calculation G| iy |
agﬂ' ‘\“Iﬁ Qu |

| Y ¢ ainder:-
\ 1] p},ﬁ%sﬁ? Negative Rem g
1 p i VN
| —f 6
1 8) 26 3 8743
21 48
i + 2 s Positive'Remainder _ 5 —Negative Remainder
! (5T 3 (FEvIes YTha)
2 > Remainder ~
8 (
Positive Remamder = Divisor (HTvId ) + Negative Remainder }
[t ‘How t‘*i“d Rems tion:-
W= Both Positive) ;
43 x +1 i & L (\w
257 Naxdl Hiplv'sw
8 g VEN 3 Remainder = ( /.
£ (Both Negative) B /
HEx 57 35 __ o -
8 8 _ 3 - Rifiimdepsess™ ¢
“  (One Positive & other Negative)
+3 -7
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Remainder ¥ waw
BICT 53 Remainder

31R2=3+4'=7'R

R, =
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3" ?1.0.6]
SC ISP

3
@ § @ W Remainder 3 Wm . (c) Ans
.} Answer 81T fora® last ¥ eameml -

73 ‘
. :L =
: 1

T T T R =

e

4

(a) 4801.25/ (d) 4801

Bt 19206 »

Last # 0.50 op

4 1238278
e ) 5 =
(a) 287654

~ (d) 28760.25

143827
S5 i
Last # 0.4 option

286431 _

4 N
(a) 71608.20 (b) 71603.25:

Soln

Ex.5:

“(e)71605.50 (d) 716(@6

‘Remainder 3 .. § O
286431 3"1'/7 *

Soln:

Last ¥ 0.75 -c')_ption;}f check #%| . (d) Ans
58 x 42 x 37 |
——'_5"—'— =7 s ¥ l_.',vr‘; e

_ masg 4
. (d) 18020
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b . gﬁa'q%ﬁﬂﬁ()ueaﬁonﬂﬁc
&1 S¥ UPR Solve & &

alculation ¥ & tgy Number
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P
. pook =
- maths H3%K " option @ Ans N

o lri o U Calculate BT T Remainde” ; Wﬁ dr option (b) Ans
i ‘§|L 5 Mg a1 Option () Ans
@ 4W’@ﬂ'0pﬁ0n(d]1\ns
} ﬁ'@ SMTE Option accurate + g ApProX han
§ ” 1/7

(a) 5143.14728 cooiessies
() 5140285714 v
4285714 vt =3/
(] 5143571428571 wovecsne -

Optio1n
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L
Pythagorean Triplets

Triplets Construction

Pythagoras Solve

S WaR Bley
mber ‘even (¥H) &

_ Pythagoras Theorem ¥ Easily |
T Ha9 B Value 7a1 2 at a1fe

Bi?fl*“ﬂ@n (Number) f&am (Oddl e
- "'?'._':N.um];.er775'r 97 (Square) iﬁ%f

Y

T 39 & arg ';rrter m:mherﬁ Justzﬂer afh Just 8T mberaq:
YR, &9 UH f5H GEAT (0dd Number) 9 ﬂ'ﬁlﬁl@q@:!‘ﬂple

: ruct B 1 | — )

241

n kA
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11,60,61] ppg

(b) ¥ BIE) AT (Number) ¥4 (Even) &}:-

2)

Step (2): 34 YIS W&AT (Number) ®7 s
Step (3): Gl Number 9T ghny THA o ‘B’i‘c.:l[u“el Eog |

number

(1) number 31X & 99!

|+1]

/
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Ma

= Math® M ot o @ B,

Step 3: Step 2% )t |
qif (Perfect Square +or T Square Root &
® llf;x: Perfect Square 2, @ = ey mﬂ

side g1l | _p) &1 A (Difference) 1 &, i
o TH UBHKR, Wid (H-

g W
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| agorean Triplets m

Ther g 8=225 - (15)
E )| Triplet 8  Answer
i Tel 919 2 side &7 3jaw 1 ¢
. O
— = ‘
3
= d61—, (19 T [19, 180,181] Answer
$ 29§ Multiply B | ;
i (Perfect Square) f
|
§
t'l
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mz:mnul7t.ﬁm'

§ Calculation Easy

H® = P* + B?
P=H-B) H+B)
B=(H-P) (H+P)
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== Pythagorean Tripjeqs -

e

L Easy

'fl-t I

SR

=

ilalia in

O

culation Easy 8 ot 21 0)
b

0
"
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nn"tilﬂi 'lﬂ“s" I","" :::::::Etsilia: r""‘

ble:- —
[0 Triplets ¥ Tmportant T8 B
2 x1/2
x
Triplet e = 2.5 12, 16, 20 15, 20,25
3,4,5 6,8, 10 1.5,2, £
adl ? B & 6.5 20, 48, 52 25, 60»65 .
s, 12,13 | 10,24,26 2.5, s — " |
3.5,12,12.5 28,96, 100 | 35,120, 15
8 15,17 | 16,30,34 [ 4 g8,880 °F ’ i}
; s | 36, 160, 164 | 45,200,
o906, 4| 18,80,82 |45 2% 20 ’ _}_t_)i
11, 60, 61| 22, 120, 122 | 5.5, 30, 30.5 | 44,240, 244 | 55, 300, 305
12, 15, 37° |/ 24, 30,74 | 6, 7.5, 18.5 | 48,60, 148 60, 75, 185
o ]
20, 21, 29 40,42,58 10,10:5, 80, 84, 116 | 100, 105, 145
A -t 14.5
16, 63, 65 | 32, 1zshzw 3,315, 32.5 | 64,252,260 | 80, 315,325
Note: $¥ TXE 31 Triplets $ Number § T[OI HXD 1Y T Had {|

s 1S 7@

(7, 24, 25)
(11 60, 61)
63, 65)
56 65)

\
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to Degrees Conversion & vic
e

art - g1 41E)

- 4] 0 Y N R /m//-// l

F=T7
Cnad

g
s
L
= ol
¥
5
..u
.'"..

(25% of 360°)
(20% of 30_"

(40% of 360°) ‘

S U807 (22.22% of 360°) O t
. 180°  (50%0f3607 oy
. T

. 200° (55.55% of 360°)
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- | = 45%
o, 180°<18° = 50% - 5% = 4
. 162 o o

2. 115.2° ., 108%+ 72 = 30%

3- 720 __) 20% o s
4. 7900 T TEE — 20% * 2% = 22%

5. 28.8° ___36°-7.2°=10% - 2% = 8%
00.8° ____590° + 10.8° = 25% * 3% = 28%

6~ A= 108

+18° = 30% + 5% = 35%

U& place ® 9IS DGCimd]

(10% BT Add T .
{1% & Aded <1 place ® 9IS Decimy

L
550

(2) 125 x 88

@ & 1253 1
BT but 125 x

(3) 65x80 :

@ gl 65® 6.5 B 5200, 52000 § 1
&l "odl g 60 T | 3T Spar al 5200
B |

(4) Point Zera Per

®  Gl9 4 Options

S Point Zerg e
(a) 1200 (b) 2400
(5), 44x81 -, 2 -
44.44% x 81 \ 4
4x8 ' 1
’; L e f
@ aﬁuaﬁ«.u%a‘rﬁrmqhm i
Answer 3600 3T yv Actual Vaj Fraction Value H Multiply feav”
3600 ¥ ¥ ghy) e (44), 44.44% @ oy 2 guforg Ans™
(6) 67x36=7?
b

66.66% * 36

------
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:hnu]
imal)

ar 11
8800

o I

=

5200

Data Interpretation Q_—_
5 @1 W Answer 100 ¥ Se gufiy 2400 ghy Also (67)

Greater Value 2 SHAY Answer 2400 @ Greater & gy

2.25 3} 2.25 &1 8 ¥ multiply $3 17 18 3ITYIT but 1
wHAT 80 QA | T 81| Wiy 180 Bh ) e

ion # AfE Difference, Sum a7 Average Y8BT WY dl &4 qgd

BTP! SITE DS Concept HT Use $ID Answer FIbrel

» #-A;:.;. .

DS e 3T &l 981 89 DS o7 "dhd & |

(d) 306
&4 Actual Value F1&Tam @1
: Percentage, Ratio, Fraction

46 : 49 (c) 49 : 46 (d)sﬂ%

R afe 1150 : 1225 Q@ 89 Ugd ¥ 23 2
@Y A Texd el 2| ¥4 29 UHd & Riw opti

. (b) 15: 26 (c)11:3 (d)3:11 5
2 O ggefl Value 11 ®T multiple 78 Option & ENT el Answ

P & at
ate HI UX 60% X 7500 : 66% xsi'h option T¥
b)71:18  ()a4:75 (@754

i)

251

wH Last Digit SEHY Answer mark HX GBI 2| a2 Last

BT &

| &

--éﬂeulatemﬁmmﬁﬂ'\‘opﬁonwmﬁ /f



| LA

o ===
i aths Hack Bo 4% option &y R}‘“

2| Answer

ultiple
oo# 11T ™M
@ 66% % 40 & Multiple

i qadl value 11
| 385 o

ey g (d) 58%
1%2) 700 (c) 53% 2 B Answer 55 ﬂ?nl

b) 55% $1 5%
o » 6?:1& 50%, 350(é aar 35 it 8 700

e

(13) 1280~ m*’“‘"’“";)'g;f% (d) 55%

(a) 49% &dﬁplﬁ 2 q} Answer «fy ‘11 &1 Multiple | Ay
1nii & Option (b) &% (d) fox & uE -t
‘ET‘ET iﬁ Answer 55% 9 FST &

EFE - a@m 9 ’ﬁﬁaﬁeﬁmszsaﬁ 8.254
il frar < Answ @
B i 4 Q
3% | (14) (A) 53~ °
(a) 3.87%

\ U lﬁ ﬂnﬁﬁ% d) 4.66%
T 531 10%, 5.3 I < .s‘ﬂiﬁer%",S [ gif~1 Answer 5%

f:__. Option (0 2

| olsT 981
) 338
325 i _“I-“_,_ Fq‘“m ;;’P"L
(a) 22.46% (b) 29.17% (c) 26.15% (d) 32.75%

325 BT 25% ATHT 81 BN, But Ans 25% 3 gtet wer g ar o
SATET | 1% SUTET gufae anfs 85-81=43i\x 325 %71 1% 3.252 4t

4 ® TR FHRIY Answer 26.15% B wrg |
(€) 650 =7
(a) 44.6 (b) 42,8

3 (c) 43.8 d) 443.2
550m40/n.zsotmmaomsm?ﬂ (d) wer (40
+4'=44°/n$m]’m1 4%aﬂ1ﬁm

|&nlmr(a]446ﬁ ST |
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5%

1%

=

ta Interpretation %

L e

(b) 45.48% (o) 34.259,
el STCT-3TST Number & gufarg g3y YRT Calculate Hv}

(d) 35.487,

35

31 Option (d) Answer

B T a1l &1 ) et Y@Er 2| Caleulate Sa @)

; ' oy ation HH Wm 2
N

e
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k
ms“l‘k’:::m,ﬁ'nl Q"
aptise sl By ® pigit 0 *
il 9:‘7*7-0

ﬂﬁmﬂt.!.'., -

t Digit 2 3T e 2

\ T AVE -3 optionﬁ al &3 Question
> "H* -*“ ‘m Tl

Pﬂlﬂ‘ different clﬂn m in thousands

mﬁm # s m@?ﬂ w¢ 2)
VL ﬁ.e: ; s 017 | 2018
Delhi 15048 5553 6663 29 | 7496
Mumbai | 3374 | 3485 | 3595 3394 | 4884
Kolkata 1710 1815 1920 3026 | 6108
Chennai 2524 2544 2644 2234 |~1874
Patna 4224 4432 4232 4740 5622

Average population of all the citie re this
average population of all the cities :nl;oz:gf is how much mo

2016 ¥ W W ¥ .
m@mm?mmwﬁwmﬁ

(a) 23500 (b) 245000
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Data Interpretation
2016
6663
3595
1920
2644
4232

19054

5 — I 65.8 = 245

3 | TR 245000 Answer &l STQT |

tion ¥

ept:-

|

= YRL/. |
96 - —200 & : |
o O |
o %
“ = |
?3.-— wer 8 SITQT | 0
2 o
i |

|
oncet - ol
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F" Maths Hack Book Q"

ity aqdl -
i (Iv] DI # Ratio Frare @1 i

e ber of e
41 ®! example ] SLEC) total num mployee
¢’W hows the breakup of c.Da nd E).

!Qt

. The given Pie Chart s ¢ offices (A, B, '
;. a company working il.‘.l dﬁf;reﬂ srafeat (B, c,D 3R E) BTy

Total Number of Employees (aﬂi?n@/l Gl H&AT) = 2400

Q. Ifthe percentage of male employees in oﬂi(}e C i8.20% and that of female
employees in E is 40%, then what is the ratio fithe number of female
employees in C to that of female employees inE?
aft wrafew ¢ ¥ qou whaal @1 w200, 2 sty B A o

FHaRat &1 wREa 40% 2, @ ¢ ¥ #fear sdaial @Y wean & Ed
Afeer HaIRAl 3 W& @ U feanr 287

(a)5:4 (b)3:2 (€)2:3 (d)3:8
Soln: Basic Method:
C 1 . 360° ___, 2400
54 x 20 72 x 20
e = : 20
- O 3 ¥ 3
360 : 480
x80% x40%
288 : 192

@  UY¥ U8 method time taking & sufory &9 @'\\’ Method &T Use &1 |
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ey of

. pata Interpretation P |

(2400) #1 {1 Use fBU Solve fpan B 1
| Special Calculation:-

b
LEY

i 'l:._:'r

PRI

018

2019

2020

2021

5470 |

5970

6120

9870

8950

3410

5690

6550

| 7450

257

e e H

7990

8380

percentage grqwth in the sale

j... i

ro

i
]

Respect #




el 3

d ®T Concept ‘8

_.-——-——__—___-‘_"ﬁ

ﬂ % M ale
T —
- e 54% |
- 7802 & a8% |
e 650 = —
D 3900
E 1300 ik

t cen! rage of m¢ S ai pu -
togethe o - . — ‘I%;ﬂ'q'r m g?
aﬁsof Helldg o= &l Bl d' None of these

§7I T Average 45 94 foran

(#86) = 45 +5.6

Y ; = 50.6"67\5 PG Answer
51%6; =»

54% —» 45
[VII] Game of
Study the g:lven tal
Total no: of — j uate"
Companies Employees % of Male out of@
Emplo
A 2
2200 IBH% 33%
B 3600 37.5% 48% /
c 2450 30% 20% ’—
D 2400 55% 20%
E 1500 56% 12.5% -
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nterpretation ———
b mb graduate employees in five companies
e g P FHARA P B s feah 22
B e A (91090

¥ g 09 Data @ WM Question frea € TS 89 2200 BT
'-ﬁwﬁ%mﬁwmss%ﬁaﬂaﬁﬁ. & method g1 8 | AR
_.?”%- 1 33% Frpret & df 7 3MuE § cancel B9 B 918 (6%)

' mwmm%rmsﬁwﬂﬁﬂ‘ﬁm

‘%

r of

ken
132

648
147

259

- i



T8 Total sale R % T Product ¥ (g9 Question )

@  3{ a¥g & Question ¥ &9 Successive Method T EZR
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